
CHEMISTRY

JEE MAIN AND ADVANCED

REDOX REACTIONS

Example

1. In the given reaction, identify the species undergoing

oxidation and reduction 

(i)  


(ii) 

Watch Video Solution

Mg + S → MgS

2HgO → 2Hg + O2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yQGZjG1ZpoxR
https://dl.doubtnut.com/l/_gDrIWas2cSEf


2. Using electronic concept, identify the oxidant and reductant

in the following redox reactions. 

(i)  


Watch Video Solution

Zn + 2H + → Zn+ 2 + H2

(ii)BrO−
3

+ F2 + 2OH − → BrO−
4

+ 2F − + H2O

3. Calculate the oxidation number of 'O' in  molecule.

Watch Video Solution

H2O

4. Calculate the oxidatioin number of S in  ion.

Watch Video Solution

SO2 −
4

5. Oxidation number of  in  isN (NH4)
2
SO4

https://dl.doubtnut.com/l/_gDrIWas2cSEf
https://dl.doubtnut.com/l/_eEsip10vCvXx
https://dl.doubtnut.com/l/_3ix5crhu8hWn
https://dl.doubtnut.com/l/_W7hz7eyDPguB


Watch Video Solution

6. Calculate the oxidation number of Mn in  molecule.

Watch Video Solution

KMnO4

7. Select the oxidising agent and the reducing agent from the

following reaction : 

Watch Video Solution

H2S
Hydrogen sulphide

+ I2
Iodine

→ 2HI
Hydrogen iodide

+ S
Sulphur

8. Justify that the reaction 

 a redox reaction.2Cu2Os + Cu2S(s) → 6Cu(s) + SO2(g)

https://dl.doubtnut.com/l/_W7hz7eyDPguB
https://dl.doubtnut.com/l/_U8l6Tlu4BD1S
https://dl.doubtnut.com/l/_Dpx4dGh4djPh
https://dl.doubtnut.com/l/_ejBuZDbrrbcS


Identify the species oxidised reduced. Which acts as an

oxidanat and which acts as a reductant?

Watch Video Solution

/

9. Classify the following redox reactions: 

a.  


b.  


c.  


d. 

Watch Video Solution

N2(g) + O2(g) → 2NO(g)

2Pb(NO)3(s) → 2PbO(s) + 2NO2(g) + O2(g)
1

2

NaH(s)H2O(l) → NaOH(aq) + H2(g)

2NO2(g) + 2
ө

OH(aq) → NO
ө

2
(aq) + NO

ө

3 (aq) + H2O(l)

10. How does  act as both oxidant and reductant ?

Watch Video Solution

Cu2O

https://dl.doubtnut.com/l/_ejBuZDbrrbcS
https://dl.doubtnut.com/l/_vkUf61IDkKrH
https://dl.doubtnut.com/l/_ZcG6J7ZJQsst
https://dl.doubtnut.com/l/_45J1CKu7ddMl


11. Which one of two ,  or  shows

disproportionation reaction and why ?

Watch Video Solution

ClO−
2

ClO−
4

12. Balance the equation 

Watch Video Solution

Mg + HNO3 → Mg(NO3)2 + N2O + H2O

13. Balance the following equation stepwise: 

Watch Video Solution

Cr2O
2 −
7

+ Fe2 + + + H ⊕ → Cr3 + + Fe3 + + H2O

https://dl.doubtnut.com/l/_45J1CKu7ddMl
https://dl.doubtnut.com/l/_WurdQgsyUvQX
https://dl.doubtnut.com/l/_1YbytH9olmIo


14. Balance the following by ion electron method (basic

medium): 

Watch Video Solution

Cr(OH)3 + IO
ө

3 → I ө + CrO
2 −
4

15. Balance the net equtation fro th reaction of potassium

dichromate (VI), , with sodium sulphite, , in an

acid solution to give chromium (III) ion and and sulphate ion. 

Strategy : Follow the seven -step proceduce , one step at a time.

Watch Video Solution

K2Cr2O7 Na2SO3

16. Balance the redox reaction by half reaction method : 

 (in acidic medium)

h id l i

Br2 + H2O2 → BrO−
3 + H2O

https://dl.doubtnut.com/l/_iEG9LZviDMfh
https://dl.doubtnut.com/l/_i5vDeOrcPDJk
https://dl.doubtnut.com/l/_EMTOeBDp76uW


Watch Video Solution

17. In passing chlorine gas through a concentrated solution of

alkali we get chloride and chlorate ions Obtain balanced

chemical equation for this reaction.

Watch Video Solution

18. Balance the following by ion electron method is basic

medium. 

.

Watch Video Solution

NO
ө

3 + Zn → Zn2 + + NH
⊕

4

19. Balance the equation by ion electron method 

 (acidic medium)MnO
−
4 + Br− → Mn2 + + Br2

https://dl.doubtnut.com/l/_EMTOeBDp76uW
https://dl.doubtnut.com/l/_2UEiHJa0LKhf
https://dl.doubtnut.com/l/_CKnxj6agz5Ut
https://dl.doubtnut.com/l/_MXmCpJxwBz1e


Watch Video Solution

20. The half cell reactions with reduction potentials are 

 


 


Calculate its emf.

Watch Video Solution

Pb(s) → Pb+ 2(aq), E ∘
red

= − 0.13V

Ag(s) → Ag+ (aq), E ∘
rod

= + 0.80V

21. Can a solution of 1 M copper sulphate be stored in a vessel

made of nickel metal? Given that 

.

Watch Video Solution

E ∘
Ni+ 2 /Ni

= 0.25  volt and E ∘
Cu+ 2 /Cu

= + 0.34  volt

https://dl.doubtnut.com/l/_MXmCpJxwBz1e
https://dl.doubtnut.com/l/_LKVC312QSJl3
https://dl.doubtnut.com/l/_rwC3GeCrYE9N


22.  (Acidic medium)

Watch Video Solution

Cr2O
− 2
7

(aq)

+ SO− 2
3

(aq)

→ Cr+ 3

(aq)
+ SO

− 2
4

(aq)

23. 

Watch Video Solution

MnO−
4

(aq)

+ Br−

(aq)
→ MnO2

(aq)

+ BrO−
3

(aq)

24. In the given reaction, identify the species undergoing

oxidation and reduction 

(i)  


(ii) 

Watch Video Solution

Mg + S → MgS

2HgO → 2Hg + O2

https://dl.doubtnut.com/l/_cbtn9bLdIjTB
https://dl.doubtnut.com/l/_GcH1Zpq25x9C
https://dl.doubtnut.com/l/_TKu3ywYU5xnm


25. Using electronic concept, identify the oxidant and reductant

in the following redox reactions. 

(i)  


Watch Video Solution

Zn + 2H + → Zn+ 2 + H2

(ii)BrO−
3 + F2 + 2OH − → BrO

−
4 + 2F − + H2O

26. Calculate the oxidation number of 'O' in  molecule.

Watch Video Solution

H2O

27. Calculate the oxidatioin number of S in  ion.

Watch Video Solution

SO
2 −
4

https://dl.doubtnut.com/l/_UzVDsSsJczA3
https://dl.doubtnut.com/l/_2stDu4LNRbCg
https://dl.doubtnut.com/l/_Zifr545J6GCH


28. Oxidation number of  in  is

Watch Video Solution

N (NH4)2SO4

29. Calculate the oxidation number of Mn in  molecule.

Watch Video Solution

KMnO4

30. Identify the species undergoing oxidation & reduction and

oxidising agent & reducing agent in the reaction. 

Watch Video Solution

I2(g) + H2S(g) → 2HI(g) + S(s)

https://dl.doubtnut.com/l/_Jn4md5srOwB3
https://dl.doubtnut.com/l/_ELud9uunoTZt
https://dl.doubtnut.com/l/_nPkN6Pt8Mnee


31. Justify that the reaction is a redox reaction. 

Watch Video Solution

  2Cu2O(s) + Cu2S(s) → 6Cu(s) + SO2(g)

32. Classify the following redox reactions. 

 


Watch Video Solution

N2 + O2 → 2NO

NaH + H2O → NaOH + H2

33. How does  act as both oxidant and reductant ?

Watch Video Solution

Cu2O

https://dl.doubtnut.com/l/_uNiYzwPpcYrP
https://dl.doubtnut.com/l/_Sw13cJw86MXm
https://dl.doubtnut.com/l/_aeLwK6g2P8Fj


34. Which of the following species, do not show

disproportionation reaction and why ? 

 and  

Also write reaction for each of the species that

disproportionates.

Watch Video Solution

ClO− , ClO−
2 , ClO−

3 ClO
−
4

35. Balance the equation 

Watch Video Solution

Mg + HNO3 → Mg(NO3)2 + N2O + H2O

36. For the redox reaction 

 
xFe2 + + yCr2O
2 −
7 + zH + → Fe3 + + Cr3 + + H2O

https://dl.doubtnut.com/l/_8vFHtmwuPm9K
https://dl.doubtnut.com/l/_uh6WqSynoAUW
https://dl.doubtnut.com/l/_dAqetNyhkbBU


,  and  are

Watch Video Solution

x y z

37. Balance the following by ion electron method (basic

medium): 

Watch Video Solution

Cr(OH)3 + IO
ө

3 → I ө + CrO
2 −
4

38. Balance the net equtation fro th reaction of potassium

dichromate (VI), , with sodium sulphite, , in an

acid solution to give chromium (III) ion and and sulphate ion. 

Strategy : Follow the seven -step proceduce , one step at a time.

Watch Video Solution

K2Cr2O7 Na2SO3

https://dl.doubtnut.com/l/_dAqetNyhkbBU
https://dl.doubtnut.com/l/_bH5gT3A3VpbR
https://dl.doubtnut.com/l/_G42Uhv9q2BNS
https://dl.doubtnut.com/l/_4MjKgoBNlB9v


39. Balance the redox reaction by half reaction method : 

 (in acidic medium)

Watch Video Solution

Br2 + H2O2 → BrO−
3 + H2O

40. In passing chlorine gas through a concentrated solution of

alkali we get chloride and chlorate ions Obtain balanced

chemical equation for this reaction.

Watch Video Solution

41. Balance the following by ion electron method is basic

medium. 

.

Watch Video Solution

NO
ө

3 + Zn → Zn2 + + NH
⊕

4

https://dl.doubtnut.com/l/_4MjKgoBNlB9v
https://dl.doubtnut.com/l/_y2MkE78CKsay
https://dl.doubtnut.com/l/_drj25w4cJp5O


42. Balance the equation by ion electron method 

 (acidic medium)

Watch Video Solution

MnO
−
4 + Br− → Mn2 + + Br2

43. The half cell reactions with reduction potentials are 

 


 


Calculate its emf.

Watch Video Solution

Pb(s) → Pb+ 2(aq), E ∘
red

= − 0.13V

Ag(s) → Ag+ (aq), E ∘
rod

= + 0.80V

44. Can a solution of 1 M copper sulphate be stored in a vessel

made of nickel metal? Given that 

.E ∘
Ni+ 2 /Ni

= 0.25  volt and E ∘
Cu+ 2 /Cu

= + 0.34  volt

https://dl.doubtnut.com/l/_drj25w4cJp5O
https://dl.doubtnut.com/l/_FXkBURb85yl3
https://dl.doubtnut.com/l/_csS2FJe0Cdfo
https://dl.doubtnut.com/l/_AKFtpozKvA1M


Try Yourself

Watch Video Solution

1. Write the half reaction for the reaction 

Watch Video Solution

2Fe+ 3 + 2I − → 2Fe+ 2 + I2

2. identify oxidation and reduction process for the reaction 

Watch Video Solution

CH2 = CH2 + H2 → CH3 − CH3

https://dl.doubtnut.com/l/_AKFtpozKvA1M
https://dl.doubtnut.com/l/_IXnylcRkWtFG
https://dl.doubtnut.com/l/_tNmI58JUAAX1


3. Find the oxidation number of  in , and 

.

Watch Video Solution

Cl HCl, HClO, ClO
ө

4

Ca(Ocl)Cl

4. What is the oxidation number of the underlined atoms in the

following : 

(a)  


(b) 

Watch Video Solution

Na2Cr2O7

Na3PO4

5. Identify the oxidant the reductant in the following reaction. 

Watch Video Solution

Cl2(g) + 2Br− (aq) → 2Cl− (aq) + Br2(aq)

https://dl.doubtnut.com/l/_5tSoTvtnX8vK
https://dl.doubtnut.com/l/_ESac78FFCjbH
https://dl.doubtnut.com/l/_4jJkNViqr8C3


6. Is the reaction  a redox

reaction?

Watch Video Solution

BaO2 + H2SO4 → BaSO4 + H2O2

7. Write the disproportionation reaction of  to 

Watch Video Solution

ClO−

Cl− and ClO−
3

8. Classify the reaction 

 


(ii) 

Watch Video Solution

(i)2NO2 + 2OH − → NO−
2 + H2O

2Pb(NO3)2 → 2PbO + 2NO2 + O2

1

2

https://dl.doubtnut.com/l/_4jJkNViqr8C3
https://dl.doubtnut.com/l/_7pipwFgsZFzd
https://dl.doubtnut.com/l/_Ri0dSjOxe7ob
https://dl.doubtnut.com/l/_4ZRky0vUAgdi


9. In the balanced equation 

, the moles

of  formed are :-

Watch Video Solution

MnO
−
4 + H + + C2O

2 −
4 → Mn2 + + CO2 + H2O

CO2

10. Balance the following reaction by ion electrons method (

acidic medium). 

Watch Video Solution

As2S3 − NO
ө

3 → S + NO2 + AsO
3 −
4

11. Balance the equation in acidic medium 

Watch Video Solution

H2S + Fe3 + → Fe3 + + S + H +

https://dl.doubtnut.com/l/_2WYVXEbIEt69
https://dl.doubtnut.com/l/_MvG0Hre1NtLe
https://dl.doubtnut.com/l/_S0ysJGYwpiQu


12. Balance the equation in basic medium 

Watch Video Solution

Al + NO−
3 → Al(OH)

−
4 + NH3

13. Why blue colour of  solution gets discharged when

zinc rod is dipped in it ? Given,

Watch Video Solution

CuSO4

E ∘
Cu+ 2 /Cu

= 0.34V and E ∘
Zn+ 2 /Zn

= − 0.76V

14. Can a solution of 1 M  be stored in a vessel made of

copper ? Given that 

Watch Video Solution

ZnSO4

E ∘
Zn+ 2 /Zn

= − 0.76V and E ∘
Cu+ 2 /Cu

= 0.34V

https://dl.doubtnut.com/l/_S0ysJGYwpiQu
https://dl.doubtnut.com/l/_31r3Ftpg5zJd
https://dl.doubtnut.com/l/_eEnCM6bmapgs
https://dl.doubtnut.com/l/_AIO5oLvGTc7D


Watch Video Solution

15. Write the half reaction for the reaction 

Watch Video Solution

2Fe+ 3 + 2I − → 2Fe+ 2 + I2

16. identify oxidation and reduction process for the reaction 

Watch Video Solution

CH2 = CH2 + H2 → CH3 − CH3

17. Determine the oxidation number of Cl in

.

Watch Video Solution

HCl, HOCl, HClO4  and ClO2

https://dl.doubtnut.com/l/_AIO5oLvGTc7D
https://dl.doubtnut.com/l/_527bRkdOJDJZ
https://dl.doubtnut.com/l/_ig89fAaBfxFa
https://dl.doubtnut.com/l/_qjX4wlxF9dNv


18. What is the oxidation number of the underlined atoms in the

following : 

(a)  


(b) 

Watch Video Solution

Na2Cr2O7

Na3PO4

19. Identify the oxidant the reductant in the following reaction. 

Watch Video Solution

Cl2(g) + 2Br− (aq) → 2Cl− (aq) + Br2(aq)

20. Is the reaction  a redox

reaction?

Watch Video Solution

BaO2 + H2SO4 → BaSO4 + H2O2

https://dl.doubtnut.com/l/_03MuC7MzzKqz
https://dl.doubtnut.com/l/_9TMO04TBBbSb
https://dl.doubtnut.com/l/_vQ21Z1P3elSq


21. Write the disproportionation reaction of  to 

Watch Video Solution

ClO−

Cl− and ClO−
3

22. Classify the reaction 

 


Watch Video Solution

2NO2 + 2OH − → NO−
2 + NO−

3 + H2O

2Pb(NO3)2 → 2PbO + 2NO2 + O2

1

2

23. Balance the equation by lon-electron method 

(ii)  (In acidic medium)

Watch Video Solution

MnO
−
4 + H2C2O4 → Mn2 + + CO2

https://dl.doubtnut.com/l/_vQ21Z1P3elSq
https://dl.doubtnut.com/l/_U526eUBeLUWM
https://dl.doubtnut.com/l/_jjZXvYQyqS5o
https://dl.doubtnut.com/l/_VWmj3i9O4ajQ


24. Balance the equation,

 (in acidic medium).

Watch Video Solution

As2S3 + NO−
3 → AsO

3 −
4 + NO + S

25. Balance the equation in acidic medium 

Watch Video Solution

H2S + Fe3 + → Fe2 + + S + H +

26. Balance the equation in basic medium 

Watch Video Solution

Al + NO−
3 → Al(OH)

−
4 + NH3

https://dl.doubtnut.com/l/_jxUME3A8l1ey
https://dl.doubtnut.com/l/_h5C6h1TKKyia
https://dl.doubtnut.com/l/_cNoXoWbLU34u


Assignment Section A Objective Type Questions One Option Is

Correct

27. Why blue colour of  solution gets discharged when

zinc rod is dipped in it ? Given,

Watch Video Solution

CuSO4

E ∘
Cu+ 2 /Cu

= 0.34V and E ∘
Zn+ 2 /Zn

= − 0.76V

28. Can a solution of 1 M  be stored in a vessel made of

copper ? Given that 

Watch Video Solution

ZnSO4

E ∘
Zn+ 2 /Zn

= − 0.76V and E ∘
Cu+ 2 /Cu

= 0.34V

1. A redox reaction is:

https://dl.doubtnut.com/l/_YAArMtT3eFY3
https://dl.doubtnut.com/l/_vwdMgtOiC4I2
https://dl.doubtnut.com/l/_NfsmDhcAgHOC


A. Proton transfer reaction

B. Neutron transfer

C. Double displacement

D. Electron transfer reaction

Answer: D

Watch Video Solution

2. The reaction of  manifests

A. Oxidising action of 

B. Reducing nature of 

C. Acidic nature of 

D. Alkaline nature of 

H2S + H2O2 → S + 2H2O

H2O2

H2O2

H2O2

H2O2

https://dl.doubtnut.com/l/_NfsmDhcAgHOC
https://dl.doubtnut.com/l/_c2tVFYDZNLna


Answer: A

Watch Video Solution

3. White  reacts with caustic soda, the products are  and 

. This reaction is an example of:

A. Oxidation

B. Reduction

C. Disproportionation

D. Neutralisation

Answer: C

Watch Video Solution

P PH3

NaH2PO2

https://dl.doubtnut.com/l/_c2tVFYDZNLna
https://dl.doubtnut.com/l/_RWpgrj1Gx6uU


4. The conversion of  into  is

A. Oxidation

B. Reduction

C. Decomposition

D. Substitution

Answer: B

Watch Video Solution

K2Cr2O7 Cr2(SO4)3

5. In this reaction  ,

acts as:

A. Reducing agent

B. Oxidising agent

2Na2S2O3 + I2 → Na2SO4O6 + 2NaI2

NaI2

https://dl.doubtnut.com/l/_KPorgzyRmzJ4
https://dl.doubtnut.com/l/_ZvbZkudDquqA


C. Oxidising agent

D. None of these

Answer: B

Watch Video Solution

6. The oxidation number of nitrogen in  is :

A. Zero

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH2OH

+1

−1

−2

https://dl.doubtnut.com/l/_ZvbZkudDquqA
https://dl.doubtnut.com/l/_FlR1Ic7JuF6f


7. When  is reduced with oxalic acid in acidic solution,

the oxidation number of  changes from

A.  to 

B.  to 

C.  to 

D.  to 

Answer: A

Watch Video Solution

KMnO4

Mn

+7 +2

+7 +4

+7 +6

+6 +2

8. In which of the following reactions the underlined substance

is oxidised?

https://dl.doubtnut.com/l/_FlR1Ic7JuF6f
https://dl.doubtnut.com/l/_A9UrPud8ywNS
https://dl.doubtnut.com/l/_mAi1ND61Mc6n


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3Mg + N2–––
→ Mg3N2

2Kl + Br2––––
→ 2KBr + I2

Cu––––O + H2O

C––O + Cl2 → COCl2

9. The oxidation state of phosphorus vary from

A.  to 

B.  to 

C.  to 

D.  to 

−1 +1

−3 +3

−3 +5

−5 +1

https://dl.doubtnut.com/l/_mAi1ND61Mc6n
https://dl.doubtnut.com/l/_P8LaEBJcQkGE


Answer: C

Watch Video Solution

10. In which of the following reactions, the underlined element

has decreased its oxidation number during the reaction?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Fe + CuSO4 → Cu + Fe–––SO4

H2–––
+ Cl2 → 2H––Cl

C–– + H2O → CO–––– + H2

Mn––––O2 + 4HCl → Mn––––Cl2 + Cl2 + 2H2O

https://dl.doubtnut.com/l/_P8LaEBJcQkGE
https://dl.doubtnut.com/l/_mShZ5nPXoxX0


11. A metal ion  loses three electrons , its oxidation number

will be

A. Zero

B. 

C. 

D. 

Answer: B

Watch Video Solution

M 3 +

+6

+2

+4

12. In which one of the following changes there are transfer of

five electrons?

A. MnO
−
4 → Mn2 +

https://dl.doubtnut.com/l/_2TyTnQrAspMI
https://dl.doubtnut.com/l/_XMY4wnro9xHL


B. 

C. 

D. 

Answer: A

Watch Video Solution

CrO
2 −
4 → Cr3 +

MnO
−
4 → MnO2

Cr2O
2 −
7 → 2Cr3 +

13. The oxidation states of the most electronegative elements in

the products of the reaction between  and  are

A. 0 and -1

B. 

C. 

D. 

BaO2 H2SO4

−1 and − 2

−2 and 0

−2 and + 1

https://dl.doubtnut.com/l/_XMY4wnro9xHL
https://dl.doubtnut.com/l/_jr3lr2fDp32Y


Answer: B

Watch Video Solution

14. The oxidation number of chlorine in HOCl is

A. 

B. Zero

C. 

D. 

Answer: C

Watch Video Solution

−1

+1

+2

https://dl.doubtnut.com/l/_jr3lr2fDp32Y
https://dl.doubtnut.com/l/_eJ3d7MpBykru


15. In the reaction, 

, chlorine is:

A. Oxidised

B. Reduced

C. oxidising as well as reduced

D. Neither oxidised nor reduced

Answer: C

Watch Video Solution

Cl2 + OH − → Cl− + ClO
− 1
4 + H2O

16. The oxidation number of  in  is

A. 

B. 

P Mg2P2O7

+3

+2

https://dl.doubtnut.com/l/_4tRAL6wj7M9i
https://dl.doubtnut.com/l/_dZnR4LjR85Gh


C. 

D. 

Answer: C

Watch Video Solution

+5

−3

17. For the redox reaction, 

 


the correct coefficients of the reactants for the balanced

reaction are

A. 

B. 

C. 

D. 

MnO
−
4 + C2O

2 −
4 + H + → Mn2 + + CO2 + H2O

MnO
−
4 C2O

2 −
4 H +

2 5 16

MnO
−
4 C2O

2 −
4 H +

16 5 2

MnO
−
4 C2O

2 −
4 H +

5 16 2

MnO
−
4 C2O

2 −
4 H +

2 16 5

https://dl.doubtnut.com/l/_dZnR4LjR85Gh
https://dl.doubtnut.com/l/_mawvEynDl0Fm


Answer: A

Watch Video Solution

18. Oxygen has an oxidation state of +2 in

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O2

OF2

SO2

H2O

https://dl.doubtnut.com/l/_mawvEynDl0Fm
https://dl.doubtnut.com/l/_56SdSu6ogmhT


19. A compound contains three elements  and , if the

oxidation number of  and  then

possible formula of the compound is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A, B C

A = + 2B = + 5 C = − 2

ABC2

B2(AC3)2

A3(BC4)2

A3(B4C)2

20. In which of the following pairs. the oxidation states, of

sulphuric and chromium are same?

https://dl.doubtnut.com/l/_n2cm5q33prRy
https://dl.doubtnut.com/l/_MwiZQR2cErHD


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SO2 −
3 , CrO2 −

4

SO3, CrO2 −
4

SO2, CrO2 −
4

SO2, Cr2O
2 −
7

21. The oxidation number of sulphur in 

respectively are:

A. 0, +1 and -2

B. 

C. 0,+1 and +2

S8, S2F2 and H2S

+2, + 1 and − 2

https://dl.doubtnut.com/l/_MwiZQR2cErHD
https://dl.doubtnut.com/l/_43ckUXXPNsbx


D. 

Answer: A

Watch Video Solution

−2, + 1 and − 2

22. Oxidation number of C in HNC is :

A. 

B. 

C. 

D. Zero

Answer: A

Watch Video Solution

+2

−3

+3

https://dl.doubtnut.com/l/_43ckUXXPNsbx
https://dl.doubtnut.com/l/_hihBYLkHZpzu
https://dl.doubtnut.com/l/_t9vmmKmdIj49


23. The oxidation number of  in  is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

Cl CaOCl2

−1 and + 1

+2

−2

24. Which of the following molecules can act as an oxidising

agent as well as a reducing agent ?

A. 

B. 

H2S

SO3

https://dl.doubtnut.com/l/_t9vmmKmdIj49
https://dl.doubtnut.com/l/_ZT2ZenRQRTfk


C. 

D. 

Answer: C

Watch Video Solution

H2O2

F2

25. The oxidation state of iodine in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ICI3

+1

+3

+5

+7

https://dl.doubtnut.com/l/_ZT2ZenRQRTfk
https://dl.doubtnut.com/l/_eQPNEemDtETw


26. The pair of compounds having metals in their highest

oxidation state is .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MnO2, FeCl3

MnO
−
4 , CrO2Cl2

CuCl, HgCl

FeCl2, FeSO4

27. Consider a titration of potassium dichromate solution with

acidified Mohr's salt solution using diphenylamine as indicator.

https://dl.doubtnut.com/l/_eQPNEemDtETw
https://dl.doubtnut.com/l/_UtrTKUwp3pcu
https://dl.doubtnut.com/l/_GNTCZl0w7esG


The number of moles of Mohr's salt required per mole of

dichromate is:

A. 3

B. 4

C. 5

D. 6

Answer: D

Watch Video Solution

28. Number of moles of  required to oxidise one mole of

ferrous oxalate completely in acidic medium will be

A. 7.5 moles

B. 0.2 moles

MnO
−
4

https://dl.doubtnut.com/l/_GNTCZl0w7esG
https://dl.doubtnut.com/l/_EBJITYX1osVP


C. 0.6 moles

D. 0.4 moles

Answer: C

Watch Video Solution

29. The reaction,

is an example of

A. Disproportionation reaction

B. Neutralization reaction

C. Double decomposition reaction

D. Displacement reaction

Answer: A

P4 + 3NaOH + 3H2O → 3NaH2PO2 + PH3

https://dl.doubtnut.com/l/_EBJITYX1osVP
https://dl.doubtnut.com/l/_35R3MQpJKYiy


Watch Video Solution

30.  has structure as shown 


 


The oxidation number of chromium in the above compound is

A. 

B. 

C. 

D. 

CrO4

+4

+5

+6

+10

https://dl.doubtnut.com/l/_35R3MQpJKYiy
https://dl.doubtnut.com/l/_xF2Ul7KDMuLL


Answer: C

Watch Video Solution

31. The oxidation states of S atom in  from left to right

respectively are 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

S4O6O
2 −

O −

O

∣ ∣

S
∣ ∣

O

− S − S −

O

∣ ∣

S
∣ ∣

O

− O

+6, 0, 0, + 6

+3, + 1, + 1, + 3

+5, 0, 0, + 5

+4, + 1, + 1, + 4

https://dl.doubtnut.com/l/_xF2Ul7KDMuLL
https://dl.doubtnut.com/l/_ZXIcpKm5WS4I


32. The oxidation number of phosphorus in , and 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

PO
3 −
4 , P4O10

P2O
4 −
7

+5

+3

−3

+2

33. The reaction 

 


is balanced if

5H2O2 + XClO2 + 2OH − → XCl− + YO2 + 6H2O

https://dl.doubtnut.com/l/_ZXIcpKm5WS4I
https://dl.doubtnut.com/l/_vV9g75rqPBNI
https://dl.doubtnut.com/l/_Hl1hGPDxyeLy


A. X=5,Y=2

B. X=2,Y=5

C. X=4,Y=10

D. X=5,Y=5

Answer: B

Watch Video Solution

34. Nitrogen forms a variety of compounds in all oxidation

states ranging from:

A.  to +5

B.  to +3

C.  to +4

−3

−3

−3

https://dl.doubtnut.com/l/_Hl1hGPDxyeLy
https://dl.doubtnut.com/l/_WiH94ioKl9IS


D.  to +6

Answer: A

Watch Video Solution

−3

35.  is a strong oxidising agent in acidic medium. To

provide acidic medium  is used instead of HCl. This is

because

A.  is a stronger acid than 

B. HCl is oxidised by  to 

C.  is dibasic acid

D. Rate is faster in the presence of 

Answer: B

W h Vid S l i

KMnO4

H2SO4

H2SO4 HCl

KMnO4 Cl2

H2SO4

H2SO4

https://dl.doubtnut.com/l/_WiH94ioKl9IS
https://dl.doubtnut.com/l/_bU3oOxEslCuM


Watch Video Solution

36. Oxidation state of  in  are

respectively

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P H4P2O5, H4P2O6, H4P2O7

+3, + 5, + 4

+5, + 3, + 4

+5, + 4, + 3

+3, + 4, + 5

37. In this reaction: S2O
2 −
8 + 2I − → 2SO2 −

4 + I2

https://dl.doubtnut.com/l/_bU3oOxEslCuM
https://dl.doubtnut.com/l/_iDFoHn5cTLBB
https://dl.doubtnut.com/l/_DDRjbjuSwmi0


A. Oxidation of iodide into iodine takes place

B. Reduction of iodine into iodide takes place

C. Both oxidation and reduction of iodine takes place

D. All of these

Answer: A

Watch Video Solution

38. Which of the following has the highest value of  ?

A. 

B. 

C. 

D. 

E ∘
rod

P4

Cl2

I2

F2

https://dl.doubtnut.com/l/_DDRjbjuSwmi0
https://dl.doubtnut.com/l/_0HQ1kEpLUhSp


Answer: D

Watch Video Solution

39. Among these, identify the species with an atom in 

oxidation state: .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+6

CrO2Cl2

[Cr(CN)6]
3 −

MnO
−
4

[NiF6]3 −

https://dl.doubtnut.com/l/_0HQ1kEpLUhSp
https://dl.doubtnut.com/l/_GBLBJj3kxMmZ


Assignment Section B Objective Type Questions One Option Is

Correct

40. The oxidant which cannot act as a reducing agent is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2

NO2

SO2

ClO2

1. Which of the following is a Redox reaction ?

https://dl.doubtnut.com/l/_bvdxNIcRkMXU
https://dl.doubtnut.com/l/_kkxcWwHI7RvD


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CaCO3 → CaO + CO2

AgNO3 + NaCl → AgCl + NaNO3

NaOH + HCl → NaCl + H2O

KClO3 → KCl + O2

3

2

2. In the reaction

acts as 

A. Oxidising agent

B. Reducing agent

C. Oxidising as well as reducing agent

2Ag + 2H2SO4 → Ag2SO4 + 2H2O + SO2, H2SO40

a/an

https://dl.doubtnut.com/l/_kkxcWwHI7RvD
https://dl.doubtnut.com/l/_TVZYRyOKNj68


D. Catalyst

Answer: A

Watch Video Solution

3. Which can act as an oxidising as well as a reducing agent ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HClO4

HNO3

H2SO4

H2O2

https://dl.doubtnut.com/l/_TVZYRyOKNj68
https://dl.doubtnut.com/l/_AOQwJdUsn2Ff
https://dl.doubtnut.com/l/_BxPXOxkVVBpr


4. The number of electrons required to balance the following

equation are : 

A. 5

B. 4

C. 3

D. 2

Answer: C

Watch Video Solution

NO−
3 + 4H + → 2H2O + NO

5. Which of the following statement is correct about oxidation

number ?

https://dl.doubtnut.com/l/_BxPXOxkVVBpr
https://dl.doubtnut.com/l/_89s12s5yGhMr


A. Oxidation number of all atoms in elementary state is zero

B. The sum of Oxidation number of all the atoms in the

formula of a compound is always zero

C. Alkali and alkaline earth metals have +1 and +2 oxidation

staes respectively

D. All of these

Answer: D

Watch Video Solution

6. Which can act as a reducing agent ?

A. 

B. 

HNO3

H2SO4

https://dl.doubtnut.com/l/_89s12s5yGhMr
https://dl.doubtnut.com/l/_qzl6PFvgL1vJ


C. 

D. 

Answer: C

Watch Video Solution

H2S

KMnO4

7. The oxidation number of  in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Fe Fe0.94O

+2

+3

+
200

94

8

3

https://dl.doubtnut.com/l/_qzl6PFvgL1vJ
https://dl.doubtnut.com/l/_AGLEkfYI9mkO


8. In this reaction  which of the

following statement is incorrect ?

A. It is a redox reaction

B. Metallic aluminium is a reducing agent

C. Metallic aluminium is oxidised to 

D. Metallic aluminium is reducing to 

Answer: D

Watch Video Solution

4Al + 3O2 → 4Al3 + + 6O2 −

Al3 +

Al3 +

9. Calculate the oxidation numbers of  in :

A. 

Cr K3CrO8

+6

https://dl.doubtnut.com/l/_AGLEkfYI9mkO
https://dl.doubtnut.com/l/_l401iWuSVqDr
https://dl.doubtnut.com/l/_g0txzleQoJ0K


B. 

C. 

D. 

Answer: B

Watch Video Solution

+5

+3

+2

10. Peroxides are basic in nature and they form hydrogen

peroxides on treatment with acid. What volume of 0.5 M 

solution is required to neutralise a solution containing 7.2 g of

 ?

A. 400 ml

B. 300 ml

C. 200 ml

H2SO4

CaO2

https://dl.doubtnut.com/l/_g0txzleQoJ0K
https://dl.doubtnut.com/l/_zYBlBR20A5hZ


D. 100 ml

Answer: C

Watch Video Solution

11. What is the difference in oxidation state of nitrogen in

between hydroxyl amine  and hydrazine  ?

A. 

B. 

C. 

D. 1

Answer: D

Watch Video Solution

(NH2OH) (N2H4)

+5

+3

−3

https://dl.doubtnut.com/l/_zYBlBR20A5hZ
https://dl.doubtnut.com/l/_bhb2Bj3aW3rs


12. In which one of the following changes there are transfer of

five electrons?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

MnO
−
4 → Mn2 +

CrO
2 −
4 → Cr3 +

MnO
−
4 → MnO2

Cr2O
2 −
7 → 2Cr3 +

13. How many gm of  is present in 1 L of its N/10

solution in acid medium ?

K2Cr2O7

https://dl.doubtnut.com/l/_bhb2Bj3aW3rs
https://dl.doubtnut.com/l/_ffZt389JOyPa
https://dl.doubtnut.com/l/_3HF437ER2tqk


A. 4.9

B. 49

C. 0.49

D. 3.9

Answer: A

Watch Video Solution

14. When  is converted into  &  then equivalent

weight of  will be (M=mol. Wt. of )

A. M

B. 

C. 

Cu2S Cu2 + SO2

Cu2S Cu2S

M

2

M

4

https://dl.doubtnut.com/l/_3HF437ER2tqk
https://dl.doubtnut.com/l/_BZmPe6PvLdQ6


D. 

Answer: D

Watch Video Solution

M

8

15. Which of the following changes involve reduction ?

A. The conversion of ferrous sulphate to ferric sulphate

B. The conversion of  to S

C. The conversion of  to 

D. The conversion of Zn to 

Answer: C

Watch Video Solution

H2S

Cl2 NaCl

ZnSO4

https://dl.doubtnut.com/l/_BZmPe6PvLdQ6
https://dl.doubtnut.com/l/_rqiLn36aRYD7
https://dl.doubtnut.com/l/_OODNxmzXpEQk


16.  

Eq. wt. of FeS for this change is (mol. Wt. of FeS=M)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

FeS → Fe3 + + SO3

M

1

M

5

M

7

M

9

17. The reaction 

 


Starting with 0.15 mole  , 0.010 mole  and 0.30 mole 

 mole of  left in solution will be

Cl2 + S2O
2 −
3 + OH − → SO

2 −
4 + Cl− + H2O

Cl2 S2O
2 −
3

OH − Cl2

https://dl.doubtnut.com/l/_OODNxmzXpEQk
https://dl.doubtnut.com/l/_WBIWvshFsuhM


A. 0.11

B. 0.01

C. 0.04

D. 0.09

Answer: A

Watch Video Solution

18. The number of moles of  that will be needed to

react completely with one mole of ferrous oxalate in acidic

solution is:

A. 

B. 

C. 

KMnO4

3/5

2/5

4/5

https://dl.doubtnut.com/l/_WBIWvshFsuhM
https://dl.doubtnut.com/l/_EQ4uVbOcHnql


D. 

Answer: A

Watch Video Solution

1/5

19. 200 ml of 0.01 M  oxidise 20 ml of  sample in

acidic medium. The volume strength of  is

A. 2.8 volume

B. 5.6 volume

C. 0.5 volume

D. 0.25 volume

Answer: A

Watch Video Solution

KMnO4 H2O2

H2O2

https://dl.doubtnut.com/l/_EQ4uVbOcHnql
https://dl.doubtnut.com/l/_OYyGfNlsLOh0


20. If equal volumes of 1 M  and 1M  solutions

are allowed to oxidise Fe(II) to Fe(III) in acidic medium, then

Fe(II) oxidised will be

A. More with 

B. More with 

C. Equal with both oxidising agent

D. Cannot be determined

Answer: B

Watch Video Solution

KMnO4 K2Cr2O7

KMnO4

K2Cr2O7

21. 4 mole of a mixture of Mohr's salt and  requires

500mL of  for complete oxidation in acidic

Fe2(SO4)3

1MK2Cr2O7

https://dl.doubtnut.com/l/_OYyGfNlsLOh0
https://dl.doubtnut.com/l/_DpsP0FZP1c1z
https://dl.doubtnut.com/l/_Fehz0Md5rrQv


medium. The mole % of the Mohr's salt in the mixture is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

40 %

5 %

50 %

25 %

22. What volume of  molar  is needed to oxidise  of 

,  gets converted to  ?

A. 8 ml

B. 16 ml

3 HNO3 8g

Fe3 + HNO3 NO

https://dl.doubtnut.com/l/_Fehz0Md5rrQv
https://dl.doubtnut.com/l/_bMaT7Z2vtFJn


C. 32 ml

D. 64 ml

Answer: B

Watch Video Solution

23. The stoichiometric coefficient of S in the following reaction 

 


is balanced (in acidic medium):

A. 1

B. 2

C. 3

D. 4

H2S + HNO3 → NO + S + H2O

https://dl.doubtnut.com/l/_bMaT7Z2vtFJn
https://dl.doubtnut.com/l/_RqD9hTdsRT6r


Answer: C

Watch Video Solution

24.  of  reacted with 

 solution. In the raeaction  was

oxidised to . To what oxidation state selenium was

converted in the reaction? Write the redox change for .

A. 3

B. 

C. 1

D. 0

Answer: D

Watch Video Solution

12.53mL 0.0509MSeO2

25.52mL0.1MCrSO4 Cr2 +

Cr3 +

SeO2

+2

https://dl.doubtnut.com/l/_RqD9hTdsRT6r
https://dl.doubtnut.com/l/_jm3dZ22ocxWQ


25. A sample of  required 20 ml of HCl

using phenolphthalein as indicator and 35ml more required if

methyl orange is used as indicator . Then molar ratio of

 to  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaHCO3 + Na2CO3

NaHCO3 Na2CO3

1

2

2

3

3

4

1

3

https://dl.doubtnut.com/l/_jm3dZ22ocxWQ
https://dl.doubtnut.com/l/_nmuRSob7aBSN


26. A sample of  and  is dissolved in  . The

complete oxidation of sample required 8/3 eq. of . After

oxidation , the reaction mixture was reduced by Z. On again

oxidation by  required  eq. The mole ratio of 

and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

FeSO4 FeC2O4 H2SO4

KMnO4

KMnO4

5

3
FeSO4

FeC2O4

3

7

7

3

5

7

7

5

https://dl.doubtnut.com/l/_UXZoONEXAzTy


27. The equivalent mass of  is half its molecular mass

when it is converted to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

MnSO4

Mn2O3

MnO

MnO2

MnO
−
4

28. In the titration of  with HCl, indicator cannot be

used

A. Methyl orange

NaHCO3

https://dl.doubtnut.com/l/_j2ttyUEeSUTT
https://dl.doubtnut.com/l/_gKJ05EsSRm4Y


B. Methyl red

C. Phenolphthalein

D. All of these

Answer: C

Watch Video Solution

29. Equivalent weight of Mohr salt in the titration with 

is (M-Molecular weight)

A. 

B. 

C. 

D. 

KMnO4

M

1

M

4

M

3

M

2

https://dl.doubtnut.com/l/_gKJ05EsSRm4Y
https://dl.doubtnut.com/l/_OkJDB6R4afL1


Answer: A

Watch Video Solution

30. 100 ml of each HCl solution having pH=5 and NaOH having

pH=8 is mixture. How much volume of  NaOH is required to

neutralise to 20 ml of this mixture ?

A. 0.009ml

B. 9 ml

C. 20 ml

D. 15 ml

Answer: A

Watch Video Solution

N

100

https://dl.doubtnut.com/l/_OkJDB6R4afL1
https://dl.doubtnut.com/l/_xIwf2uwmFhdA
https://dl.doubtnut.com/l/_I87X6TNrW8xV


31. The volume of 0.1M  which is required by 10 ml of

0.09 M  to precipitate all the chromate as  is

A. 9 ml

B. 18 ml

C. 20 ml

D. 36 ml

Answer: B

Watch Video Solution

AgNO3

K2CrO4 Ag2CrO4

32. One litre of a solution contains 15.12 g of  and one

litre of another solution contains 3.2 g of NaOH. In what volume

ratio must these solutions be mixed to obtain a neutral solution

?

HNO3

https://dl.doubtnut.com/l/_I87X6TNrW8xV
https://dl.doubtnut.com/l/_UTUgq8eBPX0V


Assignment Section C Objective Type Questions More Than One

Option Is Correct

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

3

2

3

8

3

3

8

1. Regarding the compound  which of the following

statement is/are correct ?

A. Oxidation number of Cr is (+6)

CrO5

https://dl.doubtnut.com/l/_UTUgq8eBPX0V
https://dl.doubtnut.com/l/_9EMQjfWuVoAl


B. 4-oxygen atoms are present in form of peroxide

C. Oxidation number of Cr is +10

D. 2-oxygen atoms are present in form of peroxide

Answer: A::B

Watch Video Solution

2. Which of the following can acts as a reducing agent ?

A. 

B. 

C. 

D. 

Answer: A::C::D

H2S

HNO3

FeSO4

SnCl2

https://dl.doubtnut.com/l/_9EMQjfWuVoAl
https://dl.doubtnut.com/l/_ly52LWo33CJI


Watch Video Solution

3. Which of the following act both as an oxidising as well as

reducing agent ?

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

HNO3

H2SO4

H2O2

HNO2

4. Which of the following statement are correct regarding this

equation 

https://dl.doubtnut.com/l/_ly52LWo33CJI
https://dl.doubtnut.com/l/_qQUP8DBKUMD3
https://dl.doubtnut.com/l/_mOzfBFXkdrdg


 ?

A. Bromine is oxidised

B. Bromine is reduced

C. It is an example of disproportionation reaction

D. Bromine is neither oxidised nor reduced

Answer: A::B::C

Watch Video Solution

Br2 → BrCO−
3 + Br−

5. Which of the following is/are disproportionation reactions ?

A. 

B. 

C. 

6NaOH + 3Cl2 → NaClO3 + 5NaCl + 3H2O

2NaOH + Cl2 → NaOCl + NaCl + H2O

H2O2 → H2O + O2

1

2

https://dl.doubtnut.com/l/_mOzfBFXkdrdg
https://dl.doubtnut.com/l/_HOe5dJP1o97e


D. 

Answer: A::B::C

Watch Video Solution

2KClO3 → 2KCl + 3O2

6. Which of the following statements regardign  is/are

correct ?

A. The oxidation number of sulphur is +6

B. Two oxygen atoms are present in form of peroxide

C. Three oxygen atoms are present in form of oxide

D. The oxidation state of sulphur is +8

Answer: A::B::C

Watch Video Solution

H2SO5

https://dl.doubtnut.com/l/_HOe5dJP1o97e
https://dl.doubtnut.com/l/_vMS0qboOWYm6


7. Which of the following can act as an oxidising agent ?

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

H2SO4

HNO3

KMnO4

K2Cr2O7

8. The oxidation number of carbon is zero in

A. 

B. 

HCHO

CH2Cl2

https://dl.doubtnut.com/l/_vMS0qboOWYm6
https://dl.doubtnut.com/l/_kwYif8uKd1ZJ
https://dl.doubtnut.com/l/_GUMDlM3ScjvW


C. 

D. 

Answer: A::B::C

Watch Video Solution

C12H22O11

CHCl3

9. 150 ml  in acidic medium can oxidise

completely

A. 150 ml 1M 

B. 50 ml 1M 

C. 75 ml 1M 

D. 75 ml 1M 

Answer: A::B::C

Ba(MnO4)2

M

10

Fe2 +

FeC2O4

C2O
2 −
4

K2Cr2O7

https://dl.doubtnut.com/l/_GUMDlM3ScjvW
https://dl.doubtnut.com/l/_6xeFj5ygKl8l


Watch Video Solution

10. 20 volume  solution has a strength of about

A. 60.86 g/L

B. 3.58 N

C. 1.79 M

D. 

Answer: A::B::C

Watch Video Solution

H2O2

3.035 %

11. When 1 mole of  is reacted with  in acidic

medium, then the reacted amount of  is

KMnO4 FeC2O4

FeC2O4

https://dl.doubtnut.com/l/_6xeFj5ygKl8l
https://dl.doubtnut.com/l/_j92TM8LRZ0gZ
https://dl.doubtnut.com/l/_YqjbKXgHQ5TW


A.  moles

B. 5 equivalents

C.  moles

D. 3 equivalents

Answer: A::B

Watch Video Solution

5

3

3

5

12. For the following balanced redox reaction,

. If the

molecular weight of  and  are x & y respectively then

A. Equivalent weight of  is 

B. Equivalent weight of  is 

C. Equivalent weight of  is 

2MnO
−
4 + 4H + + Br2 ⇔ 2Mn2 + + 2BrO−

3 + 2H2O

MnO
−
4 Br2

MnO
−
4

x

5

Br2

y

5

Br2

y

10

https://dl.doubtnut.com/l/_YqjbKXgHQ5TW
https://dl.doubtnut.com/l/_RGDA7Nc3dAWS


D. n-factor ratio of  and  is 2:1

Answer: A::C

Watch Video Solution

MnO
−
4 Br2

13. Consider the reaction 

 

Which is correct for the above reaction

A. n-factor for  is 11

B. The ratio of moles of a:b is 4:11

C. The ratio of moles of a:b is 11:4

D. The ratio of moles of c:d is 1:4

Answer: A::B::D

aFeS2 + bO2 → cFe2O3 + dSO2

FeS2

https://dl.doubtnut.com/l/_RGDA7Nc3dAWS
https://dl.doubtnut.com/l/_EjjDDtVfbWW1


Watch Video Solution

14. When  is reacted with  to form  and Nal

then which statement is correct ?

A. n-factor for  is one

B. n-factor for  is two

C. 2 moles of  is reacted with one mole of 

D. n-factor for  is one

Answer: A::B::C

Watch Video Solution

Na2S2O3 I2 Na2S4O6

Na2S2O3

I2

Na2S2O3 I2

Na2S4O6

15. Choose the corret statement regarding following reaction 

HNO2 → HNO3 + NO ↑

https://dl.doubtnut.com/l/_EjjDDtVfbWW1
https://dl.doubtnut.com/l/_EnYLjKdUsqDf
https://dl.doubtnut.com/l/_1JmIqbSkypMG


A. It is an example of disproportionation reaction

B. Equivalent weight of 

C. Equivalent weight of 

D. It is an example of intramolecular redox reaction

Answer: A::B

Watch Video Solution

HNO2 =
3M

2

HNO3 = 1M

16. 31.26 ml of 0.165 M solution of  is required to just

neutralise 25 ml of citric acid  . Then correct

regarding this is/are

A. n-factor of citric acid is 3

B. Molarity of citric acid is 0.138 M

C. Molarity of citric acid is 0.029 M

Ca(OH)2

H3C6H5O7

https://dl.doubtnut.com/l/_1JmIqbSkypMG
https://dl.doubtnut.com/l/_4ImOvctqgJAm


D. n-factor of citric acid is 2

Answer: A::B

Watch Video Solution

17. With 4 mole of Kl one mole of  is treated to yield gas,

which is then treated with hypo solution, then correct regarding

this is/are

A. Equivalent weight of  is 

B. To react completed with product 1 mole of hypo solution

are required

C. n-factor of hypo solution is 1

D. n-factor of  is 2

Cl2

I2
M

1

Cl2

https://dl.doubtnut.com/l/_4ImOvctqgJAm
https://dl.doubtnut.com/l/_rRMeO898xEMl


Answer: B::C::D

Watch Video Solution

18. Choose the correct regarding indicator

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

Titration Indicator

NaOH vs CH3COOH Phenolphthalein

Titration Indicator

KMnO2vs FeC2O4 KMnO4

Titration Indicator

I2  vs Na2S2O3 Starch

Titration Indicator

K2Cr2O7  vs FeSO4 K3[Fe(CN)6]as external indicator

https://dl.doubtnut.com/l/_rRMeO898xEMl
https://dl.doubtnut.com/l/_rU5ST0Qkofwk


Assignment Section D Linked Comprehension Type Questions

1. Redox is a reaction in which both oxidation and reduction will

take place simultaneously . It is obvious that if one substance

gives electron there must be another substance to accept these

electrons . In some reactions, same substance is reduced as well

as oxidised, these reactions are termed as disproportionation

reactions. 

For calculating equivalent mass in redox reaction change in

oxidtaion number is realted to n-factor which is reciprocal of

molar ratio. 

This reaction is an example of 

A. Oxidation reaction only

B. Reduction reaction only

Br2 + OH − → BrO−
3 + H2O + Br−

https://dl.doubtnut.com/l/_nqOGS3a2KtRf


C. Neutralization reaction

D. Disproportionation reaction

Answer: D

Watch Video Solution

2. Redox is a reaction in which both oxidation and reduction will

take place simultaneously . It is obvious that if one substance

gives electron there must be another substance to accept these

electrons . In some reactions, same substance is reduced as well

as oxidised, these reactions are termed as disproportionation

reactions. 

For calculating equivalent mass in redox reaction change in

oxidtaion number is realted to n-factor which is reciprocal of

molar ratio. 

https://dl.doubtnut.com/l/_nqOGS3a2KtRf
https://dl.doubtnut.com/l/_vxhz0N4pS96g


When P reacts with NaOH, the products are  and 

 which of the following statement is correct ?

A. P is oxidised only

B. P is reduced only

C. P is oxidised as well as reduced

D. P is neither reduced nor oxidised

Answer: C

Watch Video Solution

PH3

NaH2PO2

3. Redox is a reaction in which both oxidation and reduction will

take place simultaneously . It is obvious that if one substance

gives electron there must be another substance to accept these

electrons . In some reactions, same substance is reduced as well

https://dl.doubtnut.com/l/_vxhz0N4pS96g
https://dl.doubtnut.com/l/_obRpgPgx0In7


as oxidised, these reactions are termed as disproportionation

reactions. 

For calculating equivalent mass in redox reaction change in

oxidtaion number is realted to n-factor which is reciprocal of

molar ratio. 

How many moles of  are reacted with one mole of

ferrous oxalate in acidic medium ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

KMnO4

2

5

1

5

3

5

5

3

https://dl.doubtnut.com/l/_obRpgPgx0In7
https://dl.doubtnut.com/l/_j4OcFXnKnXAw


4. Redox is a reaction in which both oxidation and reduction will

take place simultaneously . It is obvious that if one substance

gives electron there must be another substance to accept these

electrons . In some reactions, same substance is reduced as well

as oxidised, these reactions are termed as disproportionation

reactions. 

For calculating equivalent mass in redox reaction change in

oxidtaion number is realted to n-factor which is reciprocal of

molar ratio. 

The equivalent weight of  in the following reaction is 

A. 

B. 

C. 

D. 

Cu2S

Cu2S + O2 → Cu+ 2 + SO3

M. wt

1

M. wt

10

M. wt

8

M. wt

11

https://dl.doubtnut.com/l/_j4OcFXnKnXAw


Answer: B

Watch Video Solution

5. Redox is a reaction in which both oxidation and reduction will

take place simultaneously . It is obvious that if one substance

gives electron there must be another substance to accept these

electrons . In some reactions, same substance is reduced as well

as oxidised, these reactions are termed as disproportionation

reactions. 

For calculating equivalent mass in redox reaction change in

oxidtaion number is realted to n-factor which is reciprocal of

molar ratio. 

Which of the following is an example of redox reaction ?

A. 2NO2 → N2O4

https://dl.doubtnut.com/l/_j4OcFXnKnXAw
https://dl.doubtnut.com/l/_ANpgfY6rBYVX


B. 

C. 

D. 

Answer: C

Watch Video Solution

NH4OH → NH
+

4 + OH −

2NO2 + H2O → HNO3 + HNO2

N2O5 + H2O → 2HNO3

6. Redox is a reaction in which both oxidation and reduction will

take place simultaneously . It is obvious that if one substance

gives electron there must be another substance to accept these

electrons . In some reactions, same substance is reduced as well

as oxidised, these reactions are termed as disproportionation

reactions. 

For calculating equivalent mass in redox reaction change in

oxidtaion number is realted to n-factor which is reciprocal of

https://dl.doubtnut.com/l/_ANpgfY6rBYVX
https://dl.doubtnut.com/l/_hN1kgr2DTeew


molar ratio. 

 


For converting one mole of nitrobenzene to aniline how many

moles of electrons are transferred ?

A. 2

B. 3

C. 6

D. 8

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hN1kgr2DTeew


7. What is the percentage strength of "15 volume"  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O2

6.086 %

4.55 %

3.03 %

1.5 %

8. 30 g  sample containing inert impurity is

completely reacting with 100 ml of "28 volume" strength of

 in acidic medium then what will be the percentage purity

of  in the sample ? (Ba=137, Mn=55, O=16)

Ba(MnO4)2

H2O2

Ba(MnO4)2

https://dl.doubtnut.com/l/_C4qMhAOwpcvs
https://dl.doubtnut.com/l/_GddP7y34Bgyj


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10 %

40 %

62.5 %

80 %

9. What volume of  solution of "11.2 volume" strength is

required to liberate 2240 ml of  at NTP?

A. 300 ml

B. 500 ml

C. 100 ml

H2O2

O2

https://dl.doubtnut.com/l/_GddP7y34Bgyj
https://dl.doubtnut.com/l/_w3xk65YlXnpa


D. 200 ml

Answer: D

Watch Video Solution

10. 2 g of brass containing Cu and Zn only reacts with 3M

 solution. Following are the reactions taking place 

 

The liberated  was found to be 1.04 L at C and 1 atm 

 

The percentage by mass of Cu in brass was

A. 

B. 

HNO3

Cu(s) + HNO3(aq) → Cu2 + (aq) + NO2(g) + H2O(I)

Zn(s) + H + (aq) + NO−
3 (aq) → NH

+
4 + Zn2 + (aq) + H2O(l)

NO2(g) 25∘

[Cu = 63.5, Zn = 65.4]

67 %

70 %

https://dl.doubtnut.com/l/_w3xk65YlXnpa
https://dl.doubtnut.com/l/_nH1dFTtjB6Li


C. 

D. 

Answer: A

Watch Video Solution

80 %

90 %

11. 2 g of brass containing Cu and Zn only reacts with 3M 

solution. Following are the reactions taking place

 

The liberated  was found to be 1.04 L at C and 1 atm 

 

The percentage by mass of Cu in brass was

A. 

HNO3

Cu(s) + HNO3(aq) → Cu2 + (aq) + NO2(g) + H2O(I)

Zn(s) + H + (aq) + NO−
3 (aq) → NH

+
4 + Zn2 + (aq) + H2O(l)

NO2(g) 25∘

[Cu = 63.5, Zn = 65.4]

https://dl.doubtnut.com/l/_nH1dFTtjB6Li
https://dl.doubtnut.com/l/_J4ro5PZNnCJM


B. 

C. 

D. 

Answer: 67%

Watch Video Solution

12. 2 g of brass containing Cu and Zn only reacts with 3M 

solution. Following are the reactions taking place

 

The liberated  was found to be 1.04 L at C and 1 atm 

 

How many grams of  will be obtained in the above

reaction ?

HNO3

Cu(s) + HNO3(aq) → Cu2 + (aq) + NO2(g) + H2O(I)

Zn(s) + H + (aq) + NO−
3 (aq) → NH

+
4 + Zn2 + (aq) + H2O(l)

NO2(g) 25∘

[Cu = 63.5, Zn = 65.4]

NH4NO3

https://dl.doubtnut.com/l/_J4ro5PZNnCJM
https://dl.doubtnut.com/l/_iEnkAAz6VtuC


Assignment Section E Assertion Reason Type Questions

A. 0.405 g

B. 0.0428 g

C. 0.2018 g

D. 0.358 g

Answer: C

Watch Video Solution

1. STATEMENT-1 , n factor of 

 is 5 and 

STATEMENT-2 Equivalent mass of  in acidic medium is 

 (M=molecular mass of )

KMnO4

acidic medium
−−−−−−−→ Mn2 +

KMnO4

KMnO4

M

5
KMnO4

https://dl.doubtnut.com/l/_iEnkAAz6VtuC
https://dl.doubtnut.com/l/_SW7kpjGkTFxQ


A. Statement-1 is True, Statement-2 is True , Statement-2 is a

correct explanation for Statement-1

B. Statement-1 is True, Statement-2 is True, Statement-2 is

NOT a correct explanation for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False , Statement-2 is True

Answer: 1

Watch Video Solution

2. STATEMENT-1  . This is an example of

disproportionation reaction. 

STATEMENT-2  can act as a oxidising as well as reducing

agent .

H2O2 → H2O + O2

1

2

H2O2

https://dl.doubtnut.com/l/_SW7kpjGkTFxQ
https://dl.doubtnut.com/l/_KLLlQXMqyF6r


Watch Video Solution

3. The oxidation number of oxygen in  is

Watch Video Solution

OF2

4. STATEMENT-1 Oxidation state of carbon in its compound is

always +4. 

STATEMENT-2 : An element can show variable oxidation numbers.

Watch Video Solution

5. STATEMENT-1: Equivalent mass of  in different

mediums are different 

STATEMENT-2  can act as a oxidising agent .

KMnO4

KMnO4

https://dl.doubtnut.com/l/_KLLlQXMqyF6r
https://dl.doubtnut.com/l/_wqpWa5cisagL
https://dl.doubtnut.com/l/_yTtjuBcGBO6O
https://dl.doubtnut.com/l/_tiXLVLhYZM7K


A. Statement -1 is True, Statement -2 is True, Statement -2 is a

correct explanation for Statmenet -1.

B. Statement -1 is True, Statement -2 is True, Statement-2 is

NOT a correct explanation for Statement -1

C. Statement -1 is True, Statement -2 is False

D. Statement -1 is False, Statmenet -2 is True

Answer: 2

Watch Video Solution

6. STATEMENT-1: In the reaction : 

chlorine is oxidised only 

STATEMENT-2: Oxidation and reduction cannot take place alone.

Watch Video Solution

Cl2 + OH − → Cl− + ClO
−
4

https://dl.doubtnut.com/l/_tiXLVLhYZM7K
https://dl.doubtnut.com/l/_co6SLBJ65uHA


7. STATEMENT-1: The equivalent mass of of  in acidic

medium is  where M=molecular mass of  

STATEMENT-2: Equivalent mass is equal to product of molecular

mass and change in oxidation number.

Watch Video Solution

KMnO4

M

5
KMnO4

8. STATEMENT-1: For the reaction

 equivalent weight of 

 is 62. 


STATEMENT-2: n factor of  is 1 (in above reaction) and

equivalent mass 

Watch Video Solution

NaOH + H2CO3 → NaHCO3 + H2O

H2CO3

H2CO3

=
Molecular mass

n factor

https://dl.doubtnut.com/l/_co6SLBJ65uHA
https://dl.doubtnut.com/l/_is5aHPzfo6nO
https://dl.doubtnut.com/l/_hFRdFASEdqWV


Assignment Section F Matrix Match Type Questions

1. Match Column-I with Column-II 

A. A(p) ,B(r) ,C(s) ,D(p,q) ,E(q,r)

B. A(q) ,B(t) ,C(s) ,D(p,r) ,E(p)

C. A(q,r) ,B(p,s) ,C(r,p) ,D(s) ,E(p)

D. A(q,r) ,B(s,t) ,C(s,t,q) ,D(q,r,s) ,E(p)

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_n7wf1KQuqajV


2. Match the following 

Watch Video Solution

3. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_5768ot1wSEa6
https://dl.doubtnut.com/l/_FIe2aZCBrfxy


Assignment Section G Interger Answer Type Questions

4. Match the following 

Watch Video Solution

5. 3.48 g of  is added to 500 ml of 0.1 M oxalic acid

solution. The resulting solution is then titrated against either

0.02 M  or  M  solution 


View Text Solution

MnO2

KMnO4 0.02 K2Cr2O7

https://dl.doubtnut.com/l/_zi7upR66pCtx
https://dl.doubtnut.com/l/_41POSxHFDd8K


1. 0.144 g of pure  was dissolvedin dilute  and

the solution was diluted to 100 ml . What volume in ml of 0.1 M

 will be needed to oxidise  solution

Watch Video Solution

FeC2O4 H2SO4

KMnO4 FeC2O4

2. 2.48 g of  is dissolved per litre solution 20 ml

of this solution required 10 ml 0.01 M iodine solution. What is

value of x ?

Watch Video Solution

Na2S2O3. xH2O

3.  of  was dissolved in water and  was

passed until CuS was completely precipitated. The 

1.245g CuSO4. xH2O H2S

H2SO4

https://dl.doubtnut.com/l/_uxmrknmS76tf
https://dl.doubtnut.com/l/_Kqg79iU9ypiv
https://dl.doubtnut.com/l/_Jnn7kYQmH7Ny


Produced in the filtrated required 10 ml of 1N NaOH solution . X

cannot be

Watch Video Solution

4. In the reaction , the eq.wt. of 

 is equal to its

Watch Video Solution

VO + Fe2O3 → FeO + V2O5

V2O5

5. For the reaction 

 


if  oxidises , then the

value of  in the reaction is

Watch Video Solution

M x+ + MnO
ө

4 → MO
ө

3 + Mn2 + + (1/2)O2

1mol ofMnO
ө

4 1.67mol ofM x+ toMO
ө

3

x

https://dl.doubtnut.com/l/_Jnn7kYQmH7Ny
https://dl.doubtnut.com/l/_6LUe4vrs2tC3
https://dl.doubtnut.com/l/_oUmNAls6q6aO
https://dl.doubtnut.com/l/_pZm4T9ZJCdpZ


6. A 0.1 mole of a metal is burnt in air to form oxide. The same

oxide is then reduced by 0.05 M, 4 litres  (acidic medium)

to +3 oxidation state of metal. What is the oxidation state of

metal in oxide ?

Watch Video Solution

S2O
2 −
3

7. 100 ml of  solution is divided into two equal two

parts A and B . A part requires 12.5 ml of 0.2 M  solution (acidic

medium) and part B is diluted x times and 50 ml of diluted

solution requires 5 ml of 0.8 M  solution in basic medium.

What is value of x ?

Watch Video Solution

Na2S2O3

I2

I2

https://dl.doubtnut.com/l/_pZm4T9ZJCdpZ
https://dl.doubtnut.com/l/_toqfS8Qy3VfN


Assignment Section H Multiple True False Type Questions

8. For a given reductant , ratio of volumes of 0.2 M  and

 in acidic medium will be

Watch Video Solution

KMnO4

1MK2Cr2O7

1. STATEMENT-1  acts as powerful oxidising agent in

acids, alkaline and neutral medium. 

STATEMENT-2: Equivalent weight of  in acidic medium in

M/5 and in strongly alkaline medium in M/3. 

STATEMENT-3 :  solution is used as a primary standard

and acts as self indicator during its titration more Mohr salt.

A. T F T

B. F T T

KMnO4

KMnO4

KMnO4

https://dl.doubtnut.com/l/_7HDoFIDnT5jV
https://dl.doubtnut.com/l/_FbqmL0DX5npT


C. F F T

D. F F F

Answer: A

Watch Video Solution

2. STATEMENT-1: In disproportionation reaction 50% of the

substance is oxidised and remaining 50% is reduced. 

STATEMENT-2: Decomposition of  is not a

disproportionation reaction. 

STATEMENT-3: Both  can undergo

disproportionation reaction.

A. T T T

B. F F T

H2O2

HNO2&H3PO3

https://dl.doubtnut.com/l/_FbqmL0DX5npT
https://dl.doubtnut.com/l/_EGdP5AudcsUr


C. F F F

D. T F T

Answer: B

Watch Video Solution

3. STATEMENT-1: In the reaction

 ions act as

oxidising agent and Zn atoms act as a reducing agent. 

STATEMENT-2: Every redox reaction cannot be splitted into two

reactions one being oxidation and the other being reductioin. 

STATEMENT-3: The oxidation numbers are artifical and are useful

as a book keeping device of electrons in reactions.

A. T T T

Zn(s) + Cu2 + (aq) → Zn2 + (aq) + Cu(s). Cu2 +

https://dl.doubtnut.com/l/_EGdP5AudcsUr
https://dl.doubtnut.com/l/_QcCOinGBa9m5


B. F F T

C. F F F

D. T F T

Answer: D

Watch Video Solution

4. STATEMENT-1: N/10, 100 ml  solution is sufficient to

oxidise M/10, 50 ml  solution in acidic medium. 


STATEMENT-2: The left solution of statement -1 is sufficient to

react with 8.33 ml of M/10  solution in acidic medium. 


STATEMENT-3: 1.06 g  will require 100 ml of 0.1 M HCl

solution with phenolphthalein.

A. F T T

KMnO4

FeC2O4

K2Cr2O7

Na2CO3

https://dl.doubtnut.com/l/_QcCOinGBa9m5
https://dl.doubtnut.com/l/_6DHNr3QZUuWI


B. F T F

C. T F T

D. T T F

Answer: A

Watch Video Solution

5. STATEMENT-1: Volume required for 0.1 M solution is in order

 


STATEMENT-2: The number of equivalents required will be in

order  


STATEMENT-3: The  is in order 

A. T T F

VKMnO4 < VK2Cr2O7 < VH2O2

H2O2 > KMnO4 > K2Cr2O7

nfactor

nH2O2 < nKMnO4 < nK2Cr2O7

https://dl.doubtnut.com/l/_6DHNr3QZUuWI
https://dl.doubtnut.com/l/_t20gRcljyZSC


Assignment Section I Subjective Type Questions

B. T F T

C. F F T

D. F T F

Answer: C

Watch Video Solution

1. Determine the oxidation number of the element as indicated 

(i) P in 

Watch Video Solution

NaH2PO4

2. Oxidarion number of Mn in  isK2MnO4

https://dl.doubtnut.com/l/_t20gRcljyZSC
https://dl.doubtnut.com/l/_NqJ5sKBrnHLo
https://dl.doubtnut.com/l/_t6eaQp4hpsMb


Watch Video Solution

3. Determine the oxidation number of the element as indicated 

(iii) I in 

Watch Video Solution

KIO3

4. What is the oxidation number of iodine in ?

Watch Video Solution

Kl3

5. Oxidation number of Fe in are:

Watch Video Solution

Fe3O4

https://dl.doubtnut.com/l/_t6eaQp4hpsMb
https://dl.doubtnut.com/l/_gk1IOKQEM9g5
https://dl.doubtnut.com/l/_OZyVS2A9hnch
https://dl.doubtnut.com/l/_QqgZ2cXmvRkY


6. Determine the oxidation number of the element as indicated 

(vi) C in 

Watch Video Solution

CH3OH

7. The oxidation number of  in  is

Watch Video Solution

S Na2S4O6

8. Determine the oxidation number of the element as indicated 

(viii) Cr in 

Watch Video Solution

CrO2Cl2

https://dl.doubtnut.com/l/_8Iq4VOWZE5cZ
https://dl.doubtnut.com/l/_KeMCZo9073WD
https://dl.doubtnut.com/l/_TAinoh3aMEEq


9. Determine the oxidation number of the element as indicated 

(ix) Cr in 

Watch Video Solution

[Cr(NH3)6]Cl3

10. The oxidation number of Fe in  is

Watch Video Solution

K4[Fe(CN))(6)]

11. Balance the chemical equation by the oxidation number

method. 

(i) 

Watch Video Solution

CuO + NH3 → Cu + N2 + H2O

https://dl.doubtnut.com/l/_sf3U3jPv5mb0
https://dl.doubtnut.com/l/_diYK3epjG66L
https://dl.doubtnut.com/l/_dA4U66mndHo7


12. Balance the chemical equation by the oxidation number

method. 

(ii) 

Watch Video Solution

P + HNO3 → HPO3 + NO + H2O

13. Balance the chemical equation by the oxidation number

method. 

(iii) 

Watch Video Solution

FeS2 + O2 → Fe2O3 + SO2

14. Balance the chemical equation by the oxidation number

method. 

(iv) 

h id l i

Zn + HNO3 + Zn(NO3)2 + N2O + H2O

https://dl.doubtnut.com/l/_scIG7GQSsaZT
https://dl.doubtnut.com/l/_HHblKOEjmCdt
https://dl.doubtnut.com/l/_cuilX75uVvpM


Watch Video Solution

15. Balance the chemical equation by the oxidation number

method. 

(v) 

Watch Video Solution

SnO2 + C → Sn + CO

16. Balance the chemical equation by the oxidation number

method. 

(vi) 

Watch Video Solution

FeCl3 + H2S → FeCl2 + S + HCl

17. Balance the chemical equation by the oxidation number

method. 

https://dl.doubtnut.com/l/_cuilX75uVvpM
https://dl.doubtnut.com/l/_silaiXZdmVkT
https://dl.doubtnut.com/l/_TXInXeE8ZXKI
https://dl.doubtnut.com/l/_ysn5fBhTYBkJ


(vii) 

Watch Video Solution

H2O2 + PbS → PbSO4 + H2O

18. Balance the chemical equation by the oxidation number

method. 

(viii) 

Watch Video Solution

MnO2 + HCl → MnCl2 + Cl2 + H2O

19. Balance the chemical equation by the oxidation number

method. 

(ix) 

Watch Video Solution

I2 + HNO3 → HIO3 + NO2 + H2O

https://dl.doubtnut.com/l/_ysn5fBhTYBkJ
https://dl.doubtnut.com/l/_ZAxeNlzHUM01
https://dl.doubtnut.com/l/_onDuXiVr1AVY


20. Balance the following equation by oxidation number method

Watch Video Solution

K2Cr2O7 + HCl → KCl + CrCl3 + H2O + Cl2

21. Balance the following reaction by the oxidation number

method - 

Watch Video Solution

MnO
−
4 + Fe+ 2 → Mn+ 2 + Fe+ 3

22. Balance the equation by lon-electron method 

(ii)  (In acidic medium)

Watch Video Solution

MnO
−
4 + H2C2O4 → Mn2 + + CO2

https://dl.doubtnut.com/l/_pIKzX5cERnrL
https://dl.doubtnut.com/l/_7OBYcj4rLbqJ
https://dl.doubtnut.com/l/_PBnIBw0ruhip
https://dl.doubtnut.com/l/_1eEixM3veE66


23. Balance the equation by lon-electron method 

(iii)  (In acidic medium)

Watch Video Solution

Cu2 + + SO2 → SO
2 −
4 + Cu+

24. Balance the equation by lon-electron method 

(iv)  (In acidic medium)

Watch Video Solution

N2O4 + BrO−
3 → NO−

3 + Br−

25. Balance the equation by lon-electron method 

(v)  (In acidic medium)

Watch Video Solution

Br− + BrO−
3 → Br2

https://dl.doubtnut.com/l/_1eEixM3veE66
https://dl.doubtnut.com/l/_PYqn4GxCx8kP
https://dl.doubtnut.com/l/_dVWAc8nh9uvM


26. Balance the equation by lon-electron method 

(vi)  (In basic medium)

View Text Solution

Cl2 + OH − → S2 − + S2O
2 −
3

27. Balance the equation by lon-electron method 

(vii)  (In basic medium)

Watch Video Solution

S + OH + → S2 − + S2O
2 −
3

28. Balance the equation by lon-electron method 

(viii)  (In basic medium)

Watch Video Solution

Al + NO−
3 → Al(OH)

−
4 + NH3

https://dl.doubtnut.com/l/_06NL78X29a3U
https://dl.doubtnut.com/l/_8C1NVIwA4KfJ
https://dl.doubtnut.com/l/_NlGqswMlnM6m


29. Balance the equation by lon-electron method 

(ix) (In acidic medium)

Watch Video Solution

Cr2O
2 −
7 + Fe2 + → Fe3 + + Cr3 +

30. Balance the equation by lon-electron method 

(x)  (In basic medium)

Watch Video Solution

Fe3O4 + MnO
−
4 → Fe2O3 + MnO2

31.  moles of solution containing anion  require

 moles of  for oxidation of  to  in

acidic medium. What is the value of ?

Watch Video Solution

2.68 × 10− 3 An+

1.61 × 10− 3 MnO
−
4 An+ AO−

3

n

https://dl.doubtnut.com/l/_JCHYBMHSyNiq
https://dl.doubtnut.com/l/_qWWsdEFsOgdN
https://dl.doubtnut.com/l/_9zAEBZXfnvDy
https://dl.doubtnut.com/l/_VbWWHiGXp8gC


32. The weight of  and the volume of HCl of specific

gravity 1.2 g  and  nature by weight, needed to

produce 1.78 L of  at STP. The reaction involved is: 


Watch Video Solution

MnO2

mL− 1 4 %

Cl2

MnO2 + 4HCl → MnCl2 + 2H2O + Cl2

33. What is the weight of sodium bromate and molarity of

solution to prepare  of  solution when half cell

reaction are: 

(i)  


(ii) 

Watch Video Solution

85.5mL 0.672N

BrO−
3 → 6H + + 6e− → Br− + 3H2O

2BrO−
3 + 12H + + 10e− → Br2 + 6H2O

https://dl.doubtnut.com/l/_VbWWHiGXp8gC
https://dl.doubtnut.com/l/_uCt8vYEbAa4t


34.  of bleaching powder was suspended in  of water.

 of this suspension on treatment with  and 

liberated iodine which reacted with .

Calculate  of available  in bleaching powder.

Watch Video Solution

5.7g 500mL

25mL KI HCl

24.35mLofN /10Na2S2O3

% Cl2

35. Borax in water gives 

 


How many grams of Borax  are required to

prepare 50 ml of 0.2 M solution.

Watch Video Solution

B4O
2 −
7 + 7H2O → 4H3BO3 + 2OH −

(Na2B4O7. 10H2O)

https://dl.doubtnut.com/l/_D7DZhPTDdvGZ
https://dl.doubtnut.com/l/_52n7Sb9k0kjv


36.  sample of  is dissolved in  of water, It is

titrated with  of  solution. The percipitated is

filtered off. Excess of  filtrate is titrated with  in

presence of  till all  converted into . It requires 

 of  solution.  of the same stock

solution of  requires  of  under similar

conditions. Calculate  of  in sample. The reaction is 


Watch Video Solution

1g AgNO3 50mL

50mL KI Agl

KI M /10KIO3

6MHCl I − ICI

50mL M /10KIO3 20mL

KI 30mL M /10KIO3

% AgNO3

KIO3 + 2KI + 6HCl → 3ICl + 3KCl + 3H2O

37. A solution contains  and  of the

solution required  for neutralisation using

phenolphthalein as indicator. Methyl orange is then added when

a further was required. The amount of 

 and  in  of the solution is:

Na2CO3 NaHCO3. 10mL

2.5mLof0.1MH2SO4

2.5mLof0.2MH2SO4

Na2CO3 NaHCO3 1litre

https://dl.doubtnut.com/l/_Rh39wIbPetwW
https://dl.doubtnut.com/l/_E2CJeAouRtCa


Assignment Section J Aakash Challengers Questions

Watch Video Solution

38. A  sample of  solid of  purity is dissolved in

acid and reduced by heating the solution with zinc dust. The

resultant solution is cooled and made upto . An aliquot

of  of this solution requires  of  solution of

an oxidant for titration. Calculate no.of electrons taken up by

oxidant in the above titration.

Watch Video Solution

1g Fe2O3 55.2 %

100mL

25mL 17mL 0.0167M

1. During the oxidation of arsenite to arsenate ion in alkaline

medium, the number of moles of hydroxide ions involved per

https://dl.doubtnut.com/l/_E2CJeAouRtCa
https://dl.doubtnut.com/l/_F8rKROPmcEFS
https://dl.doubtnut.com/l/_YhphcDbvcTpl


mole of arsenite ion are

A. 2

B. 3

C. 

D. 

Answer: A

Watch Video Solution

2/3

3/2

2. When copper is treated with a certain concentration of nitric

acid, nitric oxide and nitrogen dioxide are liberated in equal

volumes according to the equation 

 


The coefficients  and  are

xCu + yHNO3 → Cu(NO3)2 + NO + NO2 + H2O

x y

https://dl.doubtnut.com/l/_YhphcDbvcTpl
https://dl.doubtnut.com/l/_tyksKIhA4rek


A. 2 and 6

B. 4 and 12

C. 1 and 3

D. 3 and 8

Answer: B

Watch Video Solution

3. 

A. 5,1,6

B. 1,5,6

C. 6,1,5

D. 5,6,1

IO−
3 + I − + H + →

https://dl.doubtnut.com/l/_tyksKIhA4rek
https://dl.doubtnut.com/l/_9KEO2qL80oiP


Answer: A

Watch Video Solution

4. Which one of the following compounds does not decolourise

an acidified aqueous solution of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

KMnO4

FeCl3

FeSO4

SO2

H2O2

https://dl.doubtnut.com/l/_9KEO2qL80oiP
https://dl.doubtnut.com/l/_yzplwEqoLOFJ


5. The number of moles of  that will be needed to react

completely with one mole of ferrous oxalate in acidic solution is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

KMnO4

6/5

3/5

2/5

1/3

6. The oxidation number of sulphur in 

respectively are:

A. 

S8, S2F2 and H2S

0, + 1 and − 2

https://dl.doubtnut.com/l/_Fj2urQOCgpZO
https://dl.doubtnut.com/l/_tQuWoaDEyOH5


B. 

C. 

D. 

Answer: A

Watch Video Solution

0, + 2 and − 2

+2, + 1 and − 1

−2, + 1 and − 2

7. . The

missing ion is

A. 

B. 

C. 

D. 

Cr(OH)3 + ClO− + 3OH − → ? + Cl− 3H2O

Cr2O
2 −
7

Cr3 +

CrO
2 −
4

Cr2O3

https://dl.doubtnut.com/l/_tQuWoaDEyOH5
https://dl.doubtnut.com/l/_HtbTnaXHSMom


Answer: C

Watch Video Solution

8. The chromate ion present in water sample is reduced to

insoluble chromium hydroxide ,  by dithionation, in

basic solution . 

 


100 L of water requires 387 g of  . The molarity of 

 in waste water is

A. 0.0448

B. 4.448

C. 0.0148

D. 0.0224

Cr(OH)3

S2O
2 −
4 + CrO

2 −
4 + 2H2O → 2SO2 −

3 + Cr(OH)3 + OH −

Na2S2O4

CrO
2 −
4

https://dl.doubtnut.com/l/_HtbTnaXHSMom
https://dl.doubtnut.com/l/_P6VxofYH73ip


Answer: C

Watch Video Solution

9. A sample which conains exactly 0.5 g of uranium in the form

of  . The total uranium is allowed to oxidized by 50 ml of 

 . The reaction taking place is 

 

Find the concentration of  required for the above

purpose [U=238]

A. 0.0336 M

B. 0.0084 M

C. 0.0168 M

D. 0.0672 M

U 4 +

KMnO4

U 4 + + KMnO4 + H2O → UO2 +
2 + Mn2 + + H2O

+

KMnO4

https://dl.doubtnut.com/l/_P6VxofYH73ip
https://dl.doubtnut.com/l/_VyMrUGLTWtTU


Answer: C

Watch Video Solution

10. A 50 ml of 20% (w/w) solution of density 1.2 g/ml is diluted

until is strength becomes 6% (w/w) . Determine the mass of

water added.

A. 88 g

B. 120 g

C. 140 g

D. 180g

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_VyMrUGLTWtTU
https://dl.doubtnut.com/l/_2uF49xEq2Z80
https://dl.doubtnut.com/l/_eadMBRxCJB1g


Exercise

11. 1.245 g of  was dissolved in water and  gas

was passed through it will till CuS was completely precipitated .

The  produced in the filtrate required 100 ml of 0.1 M

NaOH solution . Calculate x (approximately)

A. 5

B. 6

C. 7

D. 8

Answer: C

Watch Video Solution

CuSO4. xH2O H2S

H2SO4

https://dl.doubtnut.com/l/_eadMBRxCJB1g


1. Oxidation state of nitrogen in  is

A. -4

B. 

C. -3

D. -2

Answer: C

Watch Video Solution

H − N ≡ C

+3

2. Oxidation state of oxygen in  is

A. -1

B. -2

C. Both (1) & (2)

CrO5

https://dl.doubtnut.com/l/_5KrWr9sL7GZV
https://dl.doubtnut.com/l/_DyXuD7ClWoGd


D. 

Answer: C

Watch Video Solution

−
1

2

3. The number of peroxide linkages in 

respectively are

A. 1, 1

B. 2, 0

C. 2, 1

D. 1, 2

Answer: C

Watch Video Solution

CrO5  and H2SO5

https://dl.doubtnut.com/l/_DyXuD7ClWoGd
https://dl.doubtnut.com/l/_BZQZoH7qSzaj


4. The pair of the compounds in which both the metals are in

the highest possible oxidation state is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

FeSO4, CuS2

CrO2Cl2, MnO
−
4

TiO2, MnO2

[Co(CN)6]
3 −

, MnO3

5. Oxidation number of chlorine atoms in  are

A. 0, 0

CaOCl2

https://dl.doubtnut.com/l/_BZQZoH7qSzaj
https://dl.doubtnut.com/l/_oLL7Hgg32fQU
https://dl.doubtnut.com/l/_HURPLm4wd6K5


B. 

C. 

D. 

Answer: C

Watch Video Solution

−1, − 1

−1, + 1

−2, + 7

6. When ethane is burnt in excess of oxygen,, the oxidation

number of carbon changes by

A. 

B. 

C. 

D. 

+8

+7

+3

+4

https://dl.doubtnut.com/l/_HURPLm4wd6K5
https://dl.doubtnut.com/l/_JeaLaBqwKxjm


Answer: B

Watch Video Solution

7. The oxidation state of oxygen in the following reaction

changes, 

A. From 

B. From 

C. From 

D. From 

Answer: C

Watch Video Solution

K + O2 → KO2

0 → − 1

0 → − 2

0 → −
1

2

0 → + 1

https://dl.doubtnut.com/l/_JeaLaBqwKxjm
https://dl.doubtnut.com/l/_TDWXmZf9DDdW


8. The number of electrons involved when 1 mole of 

decomposes as 

, is

A. 1

B. 8

C. 6

D. 4

Answer: A

Watch Video Solution

H2O2

H2O2 → H2O + O2

9. Which of the following elements never show positive

oxidation number?

https://dl.doubtnut.com/l/_2kZVFKp0iNO9
https://dl.doubtnut.com/l/_ddcFKAUGMSED


A. O

B. Fe

C. Ga

D. F

Answer: D

Watch Video Solution

10. When  is passed in acidified  solution oxidation

state of S changed from

A.  to 0

B. 

C. 

SO2 K2Cr2O7

+4

+4  to + 2

+4  to + 6

https://dl.doubtnut.com/l/_ddcFKAUGMSED
https://dl.doubtnut.com/l/_gNPsK1rbqN8v


D. 

Answer: C

Watch Video Solution

+6  to + 4

11. In an electrochemical cell, the flow of electrons is from

A. Anode to cathode through internal circuit

B. Cathode to anode through external circuit

C. Cathode to anode through internal circuit

D. Anode to cathode through external circuit

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_gNPsK1rbqN8v
https://dl.doubtnut.com/l/_7AbGTTeimOKQ
https://dl.doubtnut.com/l/_f4LC9SgwlD0F


12. In SHE, the pH of the acid solution

A. 7

B. 14

C. 0

D. 4

Answer: C

Watch Video Solution

13. An electrochemical cell has two half cell reaction as,

. The cell voltage will be

A. 2.71 V

A2 + + 2e− , E0 = 0.34V

X → X2 + + 2e− , E0 = + 2.37V

https://dl.doubtnut.com/l/_f4LC9SgwlD0F
https://dl.doubtnut.com/l/_5cSQYzZe84Xd


B. 2.03 V

C. 

D. 

Answer: A

Watch Video Solution

−2.71V

−2.03V

14. Which of the following is the most reactive metal?

A. K

B. Zn

C. Ni

D. Ag

Answer: A

https://dl.doubtnut.com/l/_5cSQYzZe84Xd
https://dl.doubtnut.com/l/_HnVpot6Ts1p8


Watch Video Solution

15. Which of the following element has maximum standard

reduction potential?

A. Li

B. K

C. F

D. Cl

Answer: C

Watch Video Solution

16. Choose the correct statement for galvanic cell

https://dl.doubtnut.com/l/_HnVpot6Ts1p8
https://dl.doubtnut.com/l/_Amc5RJisvRTS
https://dl.doubtnut.com/l/_IqfGYMnjDQuE


A. Oxidation : cathode

B. Positive electrode : cathode

C. Flow of electron : cathode to anode

D. All are correct

Answer: B

Watch Video Solution

17. Which of the following involves redox reaction?

A. Decomposition of 

B. Rusting

C. Reaction of NaOH with HCl

D. 

CaCO3

Zn → Zn+ + + 2e−

https://dl.doubtnut.com/l/_IqfGYMnjDQuE
https://dl.doubtnut.com/l/_oFzpNEqQYfnj


Answer: B

View Text Solution

18. Which of the following is true about salt bridge?

A. It maintains the neutrality

B. It completes the circuit

C. It contains salt

D. All are correct

Answer: D

Watch Video Solution

19. Standard reduction potential is calculated at

https://dl.doubtnut.com/l/_oFzpNEqQYfnj
https://dl.doubtnut.com/l/_CRlgO9adljFk
https://dl.doubtnut.com/l/_pTMdaHsjFU2E


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

27∘C

25∘C

0∘C

100∘C

20. The electrochemical cell representing the given reaction 

A. 

B. 

C. 

Ni(s) + Cu2 + → Ni2 + + Cu(s)

Ni(s)∣∣Cu
2 + ∣∣∣∣Ni2 + ∣∣Cu(s)

Ni(s)∣∣Ni2 + ∣∣∣∣Cu
2 + ∣∣Cu

Cu(s)∣∣Cu
2 + ∣∣|Ni(s)|Ni2 +

https://dl.doubtnut.com/l/_pTMdaHsjFU2E
https://dl.doubtnut.com/l/_dcTLRR8zdHh0


Assignment Section A

D. 

Answer: B

Watch Video Solution

Cu(s)∣∣Cu
2 + ∣∣∣∣Ni2 + ∣∣Ni(s)

1. The process in which oxidation number increase, is

A. Reduction

B. Hydrolysis

C. Oxidation

D. Decomposition

Answer: C

https://dl.doubtnut.com/l/_dcTLRR8zdHh0
https://dl.doubtnut.com/l/_LckL5cIWnF2p


Watch Video Solution

2. The oxidation state of phosphorus vary from

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−3  to + 5

−1  to + 1

−3  to + 3

−5  to + 1

3. Oxidation number of iodine varies from -

A. −1  to + 1

https://dl.doubtnut.com/l/_LckL5cIWnF2p
https://dl.doubtnut.com/l/_yyI7vSMIaxQ6
https://dl.doubtnut.com/l/_BDnliFYFzw1Z


B. 

C. 

D. 

Answer: B

Watch Video Solution

−1  to + 7

+3  to + 5

−1  to + 5

4. White  reacts with caustic soda, the products are  and 

. This reaction is an example of:

A. Oxidation

B. Reduction

C. Disproportionation

D. Neutralization

P PH3

NaH2PO2

https://dl.doubtnut.com/l/_BDnliFYFzw1Z
https://dl.doubtnut.com/l/_oZIuHh8S8yFS


Answer: C

Watch Video Solution

5. Oxidation number of oxygen atom in  molecule is

A. 0

B. -2

C. 

D. 

Answer: A

Watch Video Solution

O3

+2

−1/2

https://dl.doubtnut.com/l/_oZIuHh8S8yFS
https://dl.doubtnut.com/l/_mkgIvXzpP8TD


6. The oxidation number, of C in

 are respectively:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH4. CH3CI, CH2CI2, CHCl3 and CCl4

−4, − 2, 0, + 2, + 4

+2, 4, 0, − 2, − 4

4, 2, 0, − 2, 4

0, 2, − 2, 4, 4

7. Chlorine is in  oxidation state in

A. HCl

B. 

+3

HClO4

https://dl.doubtnut.com/l/_fasn4NyaiNcz
https://dl.doubtnut.com/l/_Bc37sMrLcW09


C. 

D. 

Answer: D

Watch Video Solution

lCl

ClF3

8. Given that the oxidation number of sulphur is -2, the

equivalent weight of sulphur is

A. 16

B. 32

C. 9

D. 4

Answer: A

https://dl.doubtnut.com/l/_Bc37sMrLcW09
https://dl.doubtnut.com/l/_Ayff4QDPSilO


Watch Video Solution

9. In a reaction between zinc and Iodine, zinc iodide is formed.

Which is being oxidised?

A. Zinc ions

B. Iodide ions

C. Zinc atom

D. Iodine

Answer: C

Watch Video Solution

10. In the reaction 

3Br2 + 6CO2 −
3 + 3H2O → 5Br ө + BrO

ө

3 + 6HCO
ө

3

https://dl.doubtnut.com/l/_Ayff4QDPSilO
https://dl.doubtnut.com/l/_QvR9DULyhWH4
https://dl.doubtnut.com/l/_kUUNHxACGszw


A. Bromine is oxidised and carbonate is reduced

B. Bromine is reduced and carbonate is oxidised

C. Bromine is neither reduced nor oxidised

D. Bromine is reduced as well oxidised

Answer: D

Watch Video Solution

11. In which reaction, there is change in oxidation number of N

atom?

A. 

B. 

C. 

2NO2 ⇔ N2O4

2NO2 + H2O → HNO3 + HNO2

NH4OH → NH
+

4 + OH −

https://dl.doubtnut.com/l/_kUUNHxACGszw
https://dl.doubtnut.com/l/_xY0ymdrkBpwS


D. 

Answer: B

Watch Video Solution

N2O5 + H2O → 2HNO3

12. When zinc is added to  solution, copper is

precipitated. It is because of

A. Oxidation of 

B. Reduction of 

C. Hydrolysis of 

D. Ionization of 

Answer: B

Watch Video Solution

CuSO4

Cu+ 2

Cu+ 2

CuSO4

CuSO4

https://dl.doubtnut.com/l/_xY0ymdrkBpwS
https://dl.doubtnut.com/l/_wmIYxYFhaUHh


13. Which of the following reactions involve oxidation and

reduction?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaBr + HCl → NaCl + HBr

HBr + AgNO3 → AgBr + HNO3

H2 + Br2 → 2HBr

Na2O + H2SO4 → Na2SO4 + H2O

14. Which of the following involves the reduction of copper?

A. Cu(s) + 1/2O2(g) → CuO(s)

https://dl.doubtnut.com/l/_wmIYxYFhaUHh
https://dl.doubtnut.com/l/_dmkmXM5R1KSC
https://dl.doubtnut.com/l/_HovNscVU11dn


B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu2 + (aq) + 2l− (aq) → 2Cul(aq)

CuCl2(s) + 2F − (aq) → CuF2 + Cl2(g)

CuO + H2O → Cu(OH)2

15. Which one of the following is the correct match?

A.  only reducing agent

B.  only oxidising agent

C.  both oxidising and reducing agent

D.  both oxidising and reducing agent

Answer: D

Cl2 −

HNO2 −

HNO3 −

SO2 −

https://dl.doubtnut.com/l/_HovNscVU11dn
https://dl.doubtnut.com/l/_qu5uZnDl4TgL


Watch Video Solution

16. The oxidation number of sulphur in  is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2S2O8

+7

+6

−6

+4

17. In which of the following compounds iron has lowest

oxidation number?

https://dl.doubtnut.com/l/_qu5uZnDl4TgL
https://dl.doubtnut.com/l/_Wq43PjVoXVOQ
https://dl.doubtnut.com/l/_WR8PkdUQS4KR


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

FeSO4. (NH4)2SO4.6H2O

K4[Fe(CN)6]

Fe2O

Fe2O3

18. Phosphorus has the oxidation state  in

A. Orthophosphoric acid 

B. Phosphorus acid 

C. Metaphosphoric acid 

D. Pyrophosphoric acid 

+3

(H3PO4)

(H3PO3)

(HPO3)

(H4P2O7)

https://dl.doubtnut.com/l/_WR8PkdUQS4KR
https://dl.doubtnut.com/l/_mpR1m7YHO6SQ


Answer: B

Watch Video Solution

19. The brown ring complex compound is formulated as

. The oxidation state of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Fe(H2O)5NO]SO4 Fe

+1

+2

+3

+6

https://dl.doubtnut.com/l/_mpR1m7YHO6SQ
https://dl.doubtnut.com/l/_xY6l4dcHeRK0


20. Oxidation number of Cr in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CrO5

+10

+6

+4

+5

21. In which of the following compounds , the oxidation number

of iodine is fractional ?

A. 

B. 

IF7

I3
−

https://dl.doubtnut.com/l/_IJ7xY1Dwc9Jd
https://dl.doubtnut.com/l/_3cKmdNW5lMku


C. 

D. 

Answer: B

Watch Video Solution

IF5

IF3

22. Which reaction involves neither oxidation nor reduction?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CrO
2 −
4 → Cr2O

2 −
7

Cr → CrCl3

KMnO4 → MnO2

Fe → Fe2O3 ⋅ xH2O

https://dl.doubtnut.com/l/_3cKmdNW5lMku
https://dl.doubtnut.com/l/_GOzrjRSiTTMD


23. In the chemical reaction, 

a, b and c are

A. 1, 3, 1

B. 4, 1, 4

C. 3, 2, 3

D. 2, 1, 2

Answer: A

Watch Video Solution

K2Cr2O7 + aH2SO4 + bSO2 → K2SO4 + Cr2(SO4)3 + CH2O.

24. What is the oxidation state of sodium in sodium amalgam

?(Na/Hg)

https://dl.doubtnut.com/l/_GOzrjRSiTTMD
https://dl.doubtnut.com/l/_NyhNqagXyzUz
https://dl.doubtnut.com/l/_BZmjGE5QAF2A


A. 

B. 0

C. 

D. 

Answer: B

Watch Video Solution

+1

−1

+2

25. Which of the following compound cannot be oxidised by ?

A. Kl

B. 

C. 

D. 

O3

KMnO4

K2MnO4

FeSO4

https://dl.doubtnut.com/l/_BZmjGE5QAF2A
https://dl.doubtnut.com/l/_qR9qIPRNVoFw


Answer: B

Watch Video Solution

26. In alkaline medium ,  reacts as follows 


 


Therefore, the equivalent mass of  will be

A. 31.6

B. 52.7

C. 

D. 

Answer: D

Watch Video Solution

KMnO4

2KMnO4 + 2KOH → 2K2MnO4 + H2O + O

KMnO4

79.0

158.0

https://dl.doubtnut.com/l/_qR9qIPRNVoFw
https://dl.doubtnut.com/l/_Aw8GDkcrsDte
https://dl.doubtnut.com/l/_EVzl8erpSZwk


27. The equivalent weight of  in the following reaction is 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

FeS2

FeS2 + O2 → Fe+ 3 + SO2

Mol. wt

1

Mol. wt

7

Mol. wt

11

Mol. wt

9

28. When  is passed in acidified potassium dichromate

solution, the oxidation number of S is changed from

A.  to zero

SO2

+4

https://dl.doubtnut.com/l/_EVzl8erpSZwk
https://dl.doubtnut.com/l/_CtLhznOjWYeC


B. 

C. 

D. 

Answer: C

Watch Video Solution

+4  to + 2

+4  to + 6

+6  to + 4

29. How many mole of  reacted with one mole of 

 in acidic medium?

A. 

B. 5

C. 

D. 

FeSO4

KMnO4

2

5

1

2

1

5

https://dl.doubtnut.com/l/_CtLhznOjWYeC
https://dl.doubtnut.com/l/_3mxNbJbPWLTW


Answer: B

Watch Video Solution

30. A compound of Xe and F is found to have 53.3% Xe (atomic

weight = 133) Oxidation number of Xe in this compound is

A. 

B. 0

C. 

D. 

Answer: D

Watch Video Solution

+2

+4

+6

https://dl.doubtnut.com/l/_3mxNbJbPWLTW
https://dl.doubtnut.com/l/_VBYZajzw3oRH


31. Which of the following is not correct for electrochemical cell?

A. Convert chemical energy to electrical energy

B. Anode is -ve terminal

C. Cathode is -ve terminal

D. Cathode is +ve terminal

Answer: C

Watch Video Solution

32. Which of the following is not a redox reaction?

A. 

B. 

C. Photosynthesis

H2 + Cl2 → 2HCl

NaOH + HCl → NaCl + H2O

https://dl.doubtnut.com/l/_GcCk01Hopq0O
https://dl.doubtnut.com/l/_JFZmcOUwcyTE


D. Cell respiration

Answer: B

Watch Video Solution

33. Redox reaction have no concern with

A. Neutrailization of acid bases

B. Salt hydrolysis

C. Esterification

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JFZmcOUwcyTE
https://dl.doubtnut.com/l/_7H8IY0dPU7yK
https://dl.doubtnut.com/l/_xuVRdzU8pdoW


34.  


n factor of nitrobenzene in this process

A. 3

B. 6

C. 2

D. 4

Answer: B

Watch Video Solution

35. In this process of photosynthesis, which takes place in green

plants which undergoes reduction?

https://dl.doubtnut.com/l/_xuVRdzU8pdoW
https://dl.doubtnut.com/l/_1MosAl7chJLs


Assignment Section B

A. Water

B. 

C. Protons

D. Photons

Answer: B

Watch Video Solution

CO2

1. The ratio of number of moles of 

required to oxidise 0.1 mol  in acidic medium

A. 

B. 

KMnO4  and K2Cr2O7

Sn2 +  to Sn+ 4

6: 5

5: 6

https://dl.doubtnut.com/l/_1MosAl7chJLs
https://dl.doubtnut.com/l/_VeCznoUL3oDU


C. 

D. 

Answer: A

Watch Video Solution

1: 2

2: 1

2.  


The equivalent mass of  in the above reaction is

A. M

B. 

C. 

D. 

Answer: D

Cl2
NaOH

−−−→ NaCl + NaClO3 + H2O

Cl2

M

3

M

2

3M

5

https://dl.doubtnut.com/l/_VeCznoUL3oDU
https://dl.doubtnut.com/l/_FT0GMM2aKHZv


Watch Video Solution

3.  is used in salt bridge because:

A.  are isoelectronic

B. Monovalent ions are required

C. Both the ions have almost same velocity

D. They are having similar size

Answer: C

Watch Video Solution

KCl

K +  and Cl−

4. EMF of the given cell 

 

Given .

A ( s )
∣
∣A

2 +
( aq )

∣
∣
∣
∣B

2 +
( aq )

∣
∣Bs

E ∘
A /A2 + : + 1.4V  and E ∘

B/B2 + : − 1.4V

https://dl.doubtnut.com/l/_FT0GMM2aKHZv
https://dl.doubtnut.com/l/_fBGllY5lGNYn
https://dl.doubtnut.com/l/_IgVfg8NWaG4j


A. 2.8 V

B. 1.8 V

C. 0 V

D.  V

Answer: A

Watch Video Solution

−1.8

5. Electrode potential depends upon

A. Size of electrode

B. Surface area of electrode

C. Temperature

D. Shape of electrode

https://dl.doubtnut.com/l/_IgVfg8NWaG4j
https://dl.doubtnut.com/l/_dCAOOreOtN1g


Answer: C

Watch Video Solution

6. Oxidation number of Cr atom in 

respectively

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CrO5  and K3CrO8

+6, + 6

+5, + 6

+6, + 5

+5, + 5

https://dl.doubtnut.com/l/_dCAOOreOtN1g
https://dl.doubtnut.com/l/_ugS8FYvKMO0k


7. Number of electrons involved in the reaction when 0.1 mol

 dissolved in water

A. 2

B. 0.4

C. 0.9

D. Zero

Answer: D

Watch Video Solution

NH3

8.  


Electrode potential for given reaction 

F2 + e− → F −  E ∘ = + 3.02V
1

2

F2 + 2e− → 2F −

https://dl.doubtnut.com/l/_KMXiBSJc2p45
https://dl.doubtnut.com/l/_uDtiQlQ3sBEM


A. 3.02 V

B. 6.04 V

C. 1.5 V

D.  V

Answer: A

Watch Video Solution

−3.02

9. Three metals A, B and C are arranged in increasing order of

standard reduction electrode potential, hence their chemical

reactivity order will be

A. 

B. 

C. 

A < B < C

A > B > C

B > C > A

https://dl.doubtnut.com/l/_uDtiQlQ3sBEM
https://dl.doubtnut.com/l/_xrhcYgNRIdo6


D. 

Answer: B

Watch Video Solution

A = B = C

10. Find the incorrect statement

A. Higher reduction potential of non-metal means stronger

reducing agent

B. Lower oxidation potential of a metal means strong

oxidising agent

C. Oxidation state of oxygen in  is -1

D. All of these

Answer: D

O3

https://dl.doubtnut.com/l/_xrhcYgNRIdo6
https://dl.doubtnut.com/l/_GTBF82HMxl7a


Watch Video Solution

11. When an alkali metal is reacted with hydrogen then metallic

hydride is formed. In this reaction

A. Hydrogen is oxidised

B. Hydrogen is reduced

C. Hydrogen is neither oxidised nor reduced

D. Hydrogen is oxidised as well as reduced

Answer: B

Watch Video Solution

12. In case of , the oxidation number of carbon of

carboxylic group is

CH3COOH

https://dl.doubtnut.com/l/_GTBF82HMxl7a
https://dl.doubtnut.com/l/_feWGQFSEqbcW
https://dl.doubtnut.com/l/_VOSmIqn8OZ1R


A. -3

B. Zero

C. 

D. 

Answer: D

Watch Video Solution

+1

+3

13. How many moles of  are required to oxidise one

mole of  in acidic medium?

A. 

B. 

C. 

KMnO4

SnCl2

1

5

2

5

3

5

https://dl.doubtnut.com/l/_VOSmIqn8OZ1R
https://dl.doubtnut.com/l/_Z4pDI9IKshfa


D. 

Answer: B

Watch Video Solution

4

5

14. Which compound acts as oxidising agent only?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SO2

H2S

H2SO4

HNO2

https://dl.doubtnut.com/l/_Z4pDI9IKshfa
https://dl.doubtnut.com/l/_fSQ0V7wY3hyY
https://dl.doubtnut.com/l/_vMUZ0pFVUMdd


15. The average oxidation state of chlorine in bleaching powder

is

A. -1

B. 

C. Zero

D. 

Answer: C

Watch Video Solution

+1

−2  as well as + 2

16. When benzaldehyde is oxidised to give benzoic acid then the

oxidation state of carbon of aldehydic group is changed from

A. +2  to + 3

https://dl.doubtnut.com/l/_vMUZ0pFVUMdd
https://dl.doubtnut.com/l/_aqBUCQaAVwbm


B. 

C. Zero to +2

D. No change

Answer: B

Watch Video Solution

+1  to + 3

17. Which of the following is incorrect regarding salt bridge

solution ?

A. Solution must be a strong electrolyte

B. Solution should be inert towards both electrodes

C. Size of cations and anions of salt should be much different

https://dl.doubtnut.com/l/_aqBUCQaAVwbm
https://dl.doubtnut.com/l/_DCqlIkNtnC8O


D. Salt bridge solution is prepared in gelatin or agar-agar to

make it semi-solid

Answer: C

Watch Video Solution

18. Standard electrode potentials of redox couples

 are 0.3 V, -0.5 V, -0.75

V and 0.9 V respectively. Which of these is best oxidising agent

and reducing agent respectively?

A. 

B. 

C. 

D. 

A2 + /A, B2 + /B, C /C 2 +  and D2 + /D

D2 + /D  and B2 + /B

B2 + /B  and D2 + /D

D2 + /D  and C 2 + /C

C 2 + /C  and D2 + /D

https://dl.doubtnut.com/l/_DCqlIkNtnC8O
https://dl.doubtnut.com/l/_i5xR7ThiQbJN


Answer: A

Watch Video Solution

19. The number of moles of  required to completely react

with 400 ml of 0.5 N  in acidic medium are

A. 0.1

B. 0.2

C. 

D. 0.5

Answer: A

View Text Solution

H2O2

KMnO4

1.0

https://dl.doubtnut.com/l/_i5xR7ThiQbJN
https://dl.doubtnut.com/l/_m07NQAdPpBWW


Assignment Section C

20.  


The coefficient X, Y and Z are

A. 6, 2, 2

B. 5, 1, 3

C. 12, 2, 6

D. 12, 1, 6

Answer: C

Watch Video Solution

Cl2(g) + X¯̄̄OH → Y ClO3
− + ZH2O + 10e−

https://dl.doubtnut.com/l/_IdZauk1zXWe8


1. Assuming complete ionization, same moles of which of the

following compounds will require the least amount of acidified

 for complete oxidation ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

KMnO4

FeC2O4

Fe(NO2)2

FeSO4

FeSO3

2. Which of the following processes does not involve oxidation

of iron ?

https://dl.doubtnut.com/l/_SrjqUTOUyeV8
https://dl.doubtnut.com/l/_3WQvxxrQNMoo


A. Liberation of  from steam by ironn at high temperature

B. Rusting of iron sheets

C. Decolourization of blue  solution by iron

D. Formation of  from Fe

Answer: D

Watch Video Solution

H2

CuSO4

Fe(CO)5

3. (a)  


(b)  


Role of hydrogen peroxide in the above reactions is respectively

A. Oxidizing in (a) and reducing in (b)

B. Reducing in (a) and oxidizing in (b)

C. Reducing in (a) and (b)

H2O2 + O3 → H2O + 2O2

H2O2 + Ag2O → 2Ag + H2O + O2

https://dl.doubtnut.com/l/_3WQvxxrQNMoo
https://dl.doubtnut.com/l/_H9PZKY1c2hJh


D. Oxidizing in (a) and (b)

Answer: C

Watch Video Solution

4. In which of the following compounds, nitrogen exhibits

highest oxidation state?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N3H

NH2OH

N2H4

NH3

https://dl.doubtnut.com/l/_H9PZKY1c2hJh
https://dl.doubtnut.com/l/_Ra6gykqllmFY


5. A solution contains  and  ions. This solution

was treated with iodine at  for  is 

and  for  = 0.536 V. The favourable redox reaction is:

A.  will be oxidised to 

B.  will be oxidised to 

C.  will be reduced to 

D. There will be no redox reaction

Answer: A

Watch Video Solution

Fe2 + , Fe3 + T −

35∘C. E ∘ Fe3 + , Fe2 + 0.77V

E ∘ I2 /2I −

I − I2

Fe2 + Fe3 +

I2 I −

6. Oxidation state of  in  are

respectively

P H4P2O5, H4P2O6, H4P2O7

https://dl.doubtnut.com/l/_Ra6gykqllmFY
https://dl.doubtnut.com/l/_1nGTl6BiPtgb
https://dl.doubtnut.com/l/_YoJEkxBX0OOR


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+3, + 5, + 4

+5, + 3, + 4

+5, + 4, + 3

+3, + 4, + 5

7. Oxidation number of P in , of S in  and that of 

 are respectively

A. 

B. 

C. 

PO
3 −
4 SO

2 −
4

Cr2O
2 −
7

+3, + 6  and + 5

+5, + 3  and + 6

−3, + 6  and + 6

https://dl.doubtnut.com/l/_YoJEkxBX0OOR
https://dl.doubtnut.com/l/_3HDpdGlMEKDi


D. 

Answer: D

Watch Video Solution

+5, + 6  and + 6

8. The number of moles of  that will be needed to react

with one mole of sulphite ion in acidic solution is

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

KMnO4

3

5

4

5

2

5

https://dl.doubtnut.com/l/_3HDpdGlMEKDi
https://dl.doubtnut.com/l/_UduTxGRS9PV0


9. Standard reduction potentials of the half reactions are given

below 

 


The strongest oxidising and reducing agents respectively are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2 ( g ) + 2e− → 2F −
( aq ) E ∘ = + 2.85V

Cl2 ( g ) + 2e− → 2Cl−
( aq ) E ∘ = + 1.36V

Br2 ( l ) + 2e− → 2Br−
( aq ) E ∘ = + 1.06V

l2 ( s ) + 2e− → 2l−
( aq ) E ∘ = + 0.53V

F2  and l−

Br2  and Cl−

Cl2  and Br−

Cl2  and l2

https://dl.doubtnut.com/l/_UduTxGRS9PV0
https://dl.doubtnut.com/l/_NhSTeGZHWTd2
https://dl.doubtnut.com/l/_O7Myx5cIqOpj


10. Standard electrode potential for  couple is 

 and that for the  couple is . These two

couples in their standard state are connected to make a cell. The

cell potential will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Sn4 + /Sn2 +

0.15V Cr3 + /Cr −0.74V

+1.83V

+1.19V

+0.89V

+0.18V

11. Standard electrode potential of three metal  and  are 

 and  respectively. The reducing power of

X, Y Z

−1.2V , + 0.5V −3.0V

https://dl.doubtnut.com/l/_O7Myx5cIqOpj
https://dl.doubtnut.com/l/_Go6u7hRz3CTf


these metals will be:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

X > Y > Z

Y > Z > X

Y > X > Z

Z > X > Y

12. In the reaction 

A. Oxygen is oxidised only

B. Oxygen is reduced only

2H2O2 → 2H2O + O2

https://dl.doubtnut.com/l/_Go6u7hRz3CTf
https://dl.doubtnut.com/l/_vSr9WiQ82kIP


C. Oxygen is neither oxidised nor reduced

D. Oxygen is both oxidised and reduced

Answer: D

Watch Video Solution

13. Which change requires an oxidising agent?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2S2O
2 −
3 ⇔ S4O

2 −
6

Zn2 + ⇔ Zn

ClO− ⇔ Cl−

SO3 ⇔ SO
2 −
4

https://dl.doubtnut.com/l/_vSr9WiQ82kIP
https://dl.doubtnut.com/l/_niQOGSVpxsFO


14. Given the following reaction involving A,B,C and D 

(i)  


(ii)  NO reaction 


(iii)  NO reaction 

(iv)  


the correct arrangement of A,B,C,D in the order of their

decreasing ability as reducing agent

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C + B+ → C + + B

A− + D →

C + + A →

D + B+ → D+ + B

D > B > C > A

A > C > D > B

C > A > B > D

C > A > D > B

https://dl.doubtnut.com/l/_niQOGSVpxsFO
https://dl.doubtnut.com/l/_pJItu8745EWk


15. Which element undergoes disproportionation in water ?

A. 

B. 

C. K

D. Cs

Answer: A

Watch Video Solution

Cl2

F2

16. Standard reducation potential at  of , 

 and  are 

 and  volt respectively. Which one

of the following is the strongest oxidising agent ?

25∘C Li+ /Li

Ba2 + /Ba, Na+ /Na Mg+ /Mg

−3.05, − 2.90, − 2.71 −2.37

https://dl.doubtnut.com/l/_pJItu8745EWk
https://dl.doubtnut.com/l/_jjlgmEB9Va6E
https://dl.doubtnut.com/l/_XHEKP1kttjRF


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ba2 +

Mg2 +

Na+

Li+

17. Which substance is serving as a reducing agent in the

following reaction? 

A. 

B. 

C. 

14H + + Cr2O
2 −
7 + 3Ni → 2Cr3 + + 7H2O + 3Ni2 +

H +

Cr2O7
2 −

H2O

https://dl.doubtnut.com/l/_XHEKP1kttjRF
https://dl.doubtnut.com/l/_7y38VFFLc83D


D. 

Answer: D

Watch Video Solution

Ni

18. The oxidant which cannot act as a reducing agent is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2

ClO2

NO2

SO2

https://dl.doubtnut.com/l/_7y38VFFLc83D
https://dl.doubtnut.com/l/_pzccYdodUGwa
https://dl.doubtnut.com/l/_zlxoEWiBBku5


19. The oxidation state of Fe in  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Fe3O4

5

4

4

5

3

2

8

3

20. Oxidation numbers of A, B, C are +2, +5 and -2 respectively.

Possible formula of compound is

A. 

B. 

A2(BC2)2

A3(BC4)2

https://dl.doubtnut.com/l/_zlxoEWiBBku5
https://dl.doubtnut.com/l/_pWldSFkDeYgW


C. 

D. 

Answer: B

Watch Video Solution

A2(BC3)2

A3(B2C2)

21. The oxidation states of sulphur in the anions ,

and  follow the order

A. 

B. 

C. 

D. 

Answer: A

SO2 −
3 , S2O

2 −
4

S2O
2 −
6

S2O4
2 − < SO3

2 − < S2O6
2 −

SO3
2 − < S2O4

2 − < S2O6
2 −

S2O4
2 − < S2O6

2 − < SO3
2 −

S2O6
2 − > S2O4

2 − < SO3
2 −

https://dl.doubtnut.com/l/_pWldSFkDeYgW
https://dl.doubtnut.com/l/_z9FcYZCUrMve


Watch Video Solution

22. Electrode potential for the following half-cell reactions are 

 


 


The EMF for the cell reaction  will

be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Zn → Zn2 + + 2e− , E ∘ = + 0.76V ,

Fe → Fe2 + + 2e− , E ∘ = + 0.44V

Fe2 + + Zn → Zn2 + + Fe

−0.32V

+1.20V

−1.20V

+0.32V

https://dl.doubtnut.com/l/_z9FcYZCUrMve
https://dl.doubtnut.com/l/_fwjhhteMKD9C
https://dl.doubtnut.com/l/_9nL9Q4iZtANR


Assignment Section D

23. In acidic medium,  changes  to  which

has two (-O-O-) bonds. Oxidation state of Cr in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O2 Cr2O
2 −
7 CrO5

CrO5

+5

+3

+6

−10

1. A : Fluorine acts as a stronger oxidising agent than chlorine. 

R : Standard reduction potential of fluorine is higher than Cl2

https://dl.doubtnut.com/l/_9nL9Q4iZtANR
https://dl.doubtnut.com/l/_JQmVB2c6Rnt5


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not

the correct explanation of the assertion, then mark (2).

C. If Assertion is true statement but Reason is false, then

mark (3).

D. If both Assertion and Reason are false statements, then

mark (4).

Answer: A

Watch Video Solution

2. A : Oxidation number of carbon in HCN is +4. 

R : Oxidation state and valency is same for carbon.

https://dl.doubtnut.com/l/_JQmVB2c6Rnt5
https://dl.doubtnut.com/l/_byZ2dv5wrgN8


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not

the correct explanation of the assertion, then mark (2).

C. If Assertion is true statement but Reason is false, then

mark (3).

D. If both Assertion and Reason are false statements, then

mark (4).

Answer: D

Watch Video Solution

3. A : Equivalent weight of  in acidic medium is . 


R : In acidic medium 1 mol of  gains 5 electron.

KMnO4
M

5

MnO4
−

https://dl.doubtnut.com/l/_byZ2dv5wrgN8
https://dl.doubtnut.com/l/_PP2k5lSH2QZM


A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not

the correct explanation of the assertion, then mark (2).

C. If Assertion is true statement but Reason is false, then

mark (3).

D. If both Assertion and Reason are false statements, then

mark (4).

Answer: A

Watch Video Solution

4. A : Electrons flow in external circuit of galvanoic cell while ions

flow in internal circuit. 

https://dl.doubtnut.com/l/_PP2k5lSH2QZM
https://dl.doubtnut.com/l/_D13bJTdfyRu4


R : Direction of current flow is reverse that of electron flow.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not

the correct explanation of the assertion, then mark (2).

C. If Assertion is true statement but Reason is false, then

mark (3).

D. If both Assertion and Reason are false statements, then

mark (4).

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_D13bJTdfyRu4


5. A :  can't remain together in a solution. 


R :  will react mutually to form 

.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not

the correct explanation of the assertion, then mark (2).

C. If Assertion is true statement but Reason is false, then

mark (3).

D. If both Assertion and Reason are false statements, then

mark (4).

Answer: A

Watch Video Solution

Sn2 +  and Fe3 +

Sn2 +  and Fe3 +

Sn4 +  and Fe2 +

https://dl.doubtnut.com/l/_KirGQ4rh1IFh


6. A : The oxidation number of S is +6 in . 


R :  has one peroxide linkage.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not

the correct explanation of the assertion, then mark (2).

C. If Assertion is true statement but Reason is false, then

mark (3).

D. If both Assertion and Reason are false statements, then

mark (4).

Answer: C

Watch Video Solution

H2SO4

H2SO4

https://dl.doubtnut.com/l/_KirGQ4rh1IFh
https://dl.doubtnut.com/l/_7DpqDo2t4f1C


7. A :  acts as reducing agent only. 


R :  oxidises to  only but not reduce by any

reducing agent.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not

the correct explanation of the assertion, then mark (2).

C. If Assertion is true statement but Reason is false, then

mark (3).

D. If both Assertion and Reason are false statements, then

mark (4).

Answer: D

HNO2

HNO2 HNO3

https://dl.doubtnut.com/l/_7DpqDo2t4f1C
https://dl.doubtnut.com/l/_d7VSeuHIxkZt


Watch Video Solution

8. A : In alkaline medium,  acts as powerful oxidising

agent. 

R :  reduces to give  in alkaline medium.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not

the correct explanation of the assertion, then mark (2).

C. If Assertion is true statement but Reason is false, then

mark (3).

D. If both Assertion and Reason are false statements, then

mark (4).

KMnO4

KMnO4 Mn2 +

https://dl.doubtnut.com/l/_d7VSeuHIxkZt
https://dl.doubtnut.com/l/_utLxPhp6UAKt


Answer: C

Watch Video Solution

9. A : When  is converted into , then

equivalent weight of  will be M/8 (M = Mol. wt. of ) 


R :  is converted , during this one electrons is lost.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not

the correct explanation of the assertion, then mark (2).

C. If Assertion is true statement but Reason is false, then

mark (3).

Cu2S Cu+ +  & SO2

Cu2S Cu2S

Cu+ Cu+ +

https://dl.doubtnut.com/l/_utLxPhp6UAKt
https://dl.doubtnut.com/l/_iU9yMJRGkYzC


D. If both Assertion and Reason are false statements, then

mark (4).

Answer: B

Watch Video Solution

10. A :  is a mild oxidising agent. 


R :  can be used for titrating sodium thiosulphate.

A. If both Assertion & Reason are true and the reason is the

correct explanation of the assertion, then mark (1).

B. If both Assertion & Reason are true but the reason is not

the correct explanation of the assertion, then mark (2).

I2

I2

https://dl.doubtnut.com/l/_iU9yMJRGkYzC
https://dl.doubtnut.com/l/_GGQyJbgl4bQh


C. If Assertion is true statement but Reason is false, then

mark (3).

D. If both Assertion and Reason are false statements, then

mark (4).

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GGQyJbgl4bQh

